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Topic:- Child Development & Pedagogy (CDP)

1) The hyperkinetic disorder is characterized by all of the following, except: / lesﬁm
faer # faxivar Fafafea 4 3 53 siss Av it &

1. Distractibility / f¥cfaaferdt
2. Hyperactivity / 3ifcrfebaar
3. Hallucinations / Afdyd

4. Impulsivity / Sefact

Correct Answer :-

« Hallucinations / AfdY#

2) Teachers must constantly deal with changing standards and

teaching profession. /fﬂT&ﬁﬁﬁ fQT&‘I'UTWﬁ [SRUGIES Wq’ﬁﬁ”ﬁ 3R
& 1Y ST BT A1iRT

1. Syllabus / UT3-fdarur
2. Curriculum /W
3. Assessment / 3{Thcl
4. Exam system /ﬁ&ﬂﬂvﬂ?ﬁ

Correct Answer :-

e Curriculum /W

3) Piaget believed that language develops in a child as a result of: /WWH’FFIT YT fobs

¥= § U &1 faery, =1 & ufvommasu glar g:
1. Cognitive development/wm



2. Egocentric development / 31Id-la5ia(1 CEAE

3. Behavioural development / SIAERIH® [AH T

4, Environmental development /Q'qﬁTUﬂ'qﬁW

Correct Answer :-

« Cognitive development/WﬁW

4) Mary is very outgoing. She is an exceptional Bharatanatyam dancer but does not score well
in her academics. Which of the teaching method will give more productive results for Mary? /

A aga Al 81 98 U SRATURUT HRaATeaw Ad! ¢ Afde ag Rien & Jaivee 3id
81 urell 81 AY & fore i <t Rreror faftr sifres amvve gifte

1. Excursions /'J;I'J:I'UT?JT&ITJ:hE

2. Brainstorming methods/ﬁﬂ'ma'ﬁm

3. Grade acceleration /ﬁ%’q@

4. Individualized instrucﬁons/mﬁ&m

Correct Answer :-

« Excursions /'J;I'JZI'UT?:ITS'I'I'mT:{

5) The occurrence of is an indication of stagnation in the learning process. /

BT e, SRATH F ufhar § fRRTT $1UH Shd 2
1. Motivation / 3{fHUROT

2. Plateau / FRRT® (e

3. Progression / WIfdl

4. Curve / 9% (Pd)

Correct Answer :-

 Plateau / fRRRi® (lﬁa)

6) What is the main objective of teaching in inclusive classrooms? / guTasht weme o Wﬁ
BT YE I 132

1. Preparing students for job/ EIEICIKIERIE:D 1%@ TR HAT

2. Preparing students to pass the examination / BT P URIET U B o g TIR BT
3. Developing thinking power of students / S @ i e &1 fabrg dxe

4. Providing notes to students / EIEICA :ﬁE\H Yald dAl



Correct Answer :-

« Developing thinking power of students / S & RiaT fed &1 faer &

7) Development does not include changes that happen due to: / oo # 9 ufvads gfifera qﬁ
Fd &l 1 & SRUTEIA &

1. Tllness / SR
2. Learning / T
3. Maturation / URU&dT

4. Aging / delUl

Correct Answer :-

o Tllness / STHRT

8) The key agent in Erikson’s Psychosocial stage of “Autonomy versus shame and doubt” is /

“TATIIdT STH I 3R Yag” (SATe-1a a3 9 U S13¢) $ TR & T HTHID IR0 §
TG UCH 3 -

1. Primary caregiver / URIYS TerIdh
2. Family / IRGIR

3. Parents / HId1-fOdn

4, Teachers and peers / e SR ameht

Correct Answer :-

e Parents / HId1-fUdn

9) When a child breaks a vase, his parents explain that this was wrong and tell him that he will not
receive his pocket money for a week. What type of parenting is this? / SId Ydh d=Il peiqld T‘ﬁ:":_dT

g, a1 I9& ATa1-fuar IHea € f ug erd u1 3R 39 gd1d & f v g & fere 39
Sg@d T8 | U8 f5Y PR &1 ura=-uiyor g2

1. Behaviourist / SIGgIRATG!
2. Authoritarian / F<[d] é |
3. Authoritative / 3TYBTRD

4. Permissive / W

Correct Answer :-

« Authoritative / STIRTNG



10) Children with Autism are: / AT (ar"rl%m) ﬁtﬁ%a' G| sﬁ %

1. Unable to make eye contact with others. / m & 1Y 3G W Guh HA A RS
2. Unable to move about comfortably. / ${RTH ¥ a;qﬁ o sy

3. Unable to fall asleep. / EIFNRE Kinepail]

4. Unable to follow instructions. / FG=1 &1 UTe @3- H 3Ry

Correct Answer :-

» Unable to make eye contact with others. / QFR [P 1Y 3R T U B T argaef

11) During stage of cognitive development, children acquire knowledge through
manipulating objects. / HTTH® [AHTT & AT & SR, T g 3if A IIHY FIb
I U FRA 5 |

1. formal operational stage/ el dfoharaTd srawat
2. sensorimotor stage / HEAHICR ST
3. concrete operational stage / Hj\:ﬂw AR

4. preoperational stage / qﬁw SHARIT

Correct Answer :-

« sensorimotor stage / FTRTHICR AR

12) One way of minimizing the effects of diversity is to allow the children to: / fafaear & gvma &t

HH DI BT UH qlb] g B =1 B Srgafa ST R:

1. Win over each other/ Tth-G8R TR Siid TRIS B bl

2. Operate in separate groups/ 3C1-3{CT JHg! & HTH HIA Bl

3. Start small communities of their own/3{0- X098 & Bl TG DI L= HRA B

4. Socialize with each other/ W—QH?{ & 1Y Aol dg &1

Correct Answer :-

e Socialize with each other/ W—QH?{ & 1Y Aol dd;l'q 3|

13) According to Ivan Pavlov’s idea of Classical Conditioning, a particular natural response to a
stimulus becomes a conditioned response to another associated stimulus. Which one of the following

examples satisfies that theory?/ WW%WW%W% SR, Th
Il & 1T Ue faRiv urgsfaes ufaforar gar dae ST & g o I=d ufaforar o= ot
2| Frafafaa o | #1431 3eevr 39 Rigid & 9qy #vdrg?

1. Children responding to the bell at school to indicate recess and associating it to happiness./ CEIGRE]

Gl IO B = AIHT BT Hobd JHFA g MR I WM & 1Y wiisd 3



2. Children maintaining silence when the teacher raises her hand/ SI§ e/ BIY 3AId % qAT= W
U G g

3. Children expecting to receive medals by the end of a race/ E?fg & 3id dP UgH U IR Bl S
g 9T &= |

4. Children getting star stickers for the right answers asked in class./ P& | qi? IR | I B fau R
REDHR UTtd - dTcd S |

Correct Answer :-

« Children responding to the bell at school to indicate recess and associating it to happiness./ faemeag o

Hl Foi B T SHTHTR BT Hobd T & 3R I YR & Y Siisd g

14) According to Cognitivism, learning is defined as a change in the learners’

IIATHDAIG & VR, sftrm &t Rremffes ﬁw%wﬁuﬁmﬁam
a1

1. Behaviour / dgR

2. Schemata/ Hdod (IP1HTET)
3. Mindset / ARG

4, Morals / ﬁﬁ@

Correct Answer :-

« Schemata/ Hdd @IITE‘T)

15) According to Bingham, what does an aptitude test disclose? / S ® IR, Gl'ﬁ-lq% Ttefor
H T T Il 82

1. The tendencies and capacities inherent in the individual's original constitution./ Sfd & Hel ¥9HId 7 e
&Y 3R ygfrt
2. The achievement in different dispositions./ fafH= W gl § Ut

3. The readiness to acquire proficiency and exercise ability./ TJIUrar 3R 31T HIA DI daORdT |
4, The strength of the different dispositions./ faft= &B_HTW qrgar ot grad

Correct Answer :-

o The readiness to acquire proficiency and exercise ability./ TJIurar 3R 31T B D1 R |

16) A child was taught to be afraid of cobras. Now, he is afraid of all snakes. What learning principle

is evident here?/@ﬁﬁmﬁmmwml aﬁ,a's'mhﬁﬁﬁm%l TIETH’SFI
1 AR Ryegia ww 32

1. Reinforcement / W

2. Spontaneous recovery / ¥dd: gwa?h



3. Stimulus generalization / BEOFW 6B
4. Stimulus discrimination / 3§19 faNdIHUI

Correct Answer :-

» Stimulus generalization / I U JrHRITHT

17) Carl Jung’s approach for a personality assessment is:/ fdad Sipad & forg BT G T

=PI E:

1. Judging / ﬁﬂféﬂ

2. Perception / ﬂaﬁ
3. Structured / IR
4, Projective / gady

Correct Answer :-

o Projective / gady

18) Which of the following is the term used to denote inborn patterns of behavior that are

biologically determined? / sifa®w =u A fAuia AqdgR & SHSITd Ul Y E'Q'Iﬁ & ﬁl’({
frefafea & @ fora 2rsg &1 ST foran wiran 82

1. Arousal / STIoI (TRI39A)

2. Drives / 3[4 (ST364)

3. Instincts / JAVGRMAT GReaT)
4. Tncentives / T@IH (3_'{@1%3\‘:[)

Correct Answer :-

« Instincts / JAUGRIAT Efede)

19) Which of the following is not a part of the process of memory? / Fafrfad s ﬂﬁ ®1
wfsrar &1 fovar 81 82

1. Storing information / STHR] TUGId HRAT
2. Encoding information / ST R] BT HbciIchRUT BT

3. Acting on information / JdT UX B BT

4. Retrieving information / ST UTW &Rl

Correct Answer :-

 Acting on information / ¥ U B AT



20) What substage of cognitive development is apparent when a baby learns to press the ‘play’
button on the iPad in order to play his favourite nursery rhyme? / HIT-TCH® fawra & &1
IU-IARIT T §eH B, 19 TP g1 30+ yeidier 14} e 3eq & g amd-ds R
I e a1 HHEdr 82

1. Coordination of secondary schemes / Heaid grorTeli o 999
2. Primary circular reactions / IiEer FRIEIR PIRIERIY
3. Secondary circular reactions / AT H® ddlhR PIRIERIY

4. Tertiary circular reactions / (jdnlqcb CICAMN PIGIERY

Correct Answer :-

 Coordination of secondary schemes / Heafie goHell & 999

21) What age is a child the most impressionable? / foa ST BT d=dT A SUTET YUTaRITe gl 82
1. 14 t0 18 years / 14 T 18 Y

2.2to8years /2¥ 8Ty

3.9to 12 years /99 12 a§

4. 6to 14years/6a14a'5f

Correct Answer :-

« 6to 14years/6® 1439

22) CCE is undertaken . /@'\"ﬂg L BRA™ far srar %I
1. Four times a year / Udh Iy & IR IR

2. Throughout the year / ¥ 1R A

3. Periodically / HHI-HHI UR

4. Twice ayear/waﬁfﬁaw

Correct Answer :-

» Throughout the year / CLRIRg:|

23) Questioning in the classroom : / P& o UY BT
1. Develops inactivity / fAfspgar fasw Rig wear % |
2. Clarifies subject matter / TAS a¥d o) WP HRAT g |



3. Creates indiscipline / SRR UcT Hl B
4. Is a waste oftime/WﬁWﬁ%I

Correct Answer :-

« Clarifies subject matter / [aST a¥d & WP FRAT g |

24) Needs which grow stronger when unsatisfied are called: / 3¢ TAW Holdd g areft
razgehary fr seard ¢

1. Deficiency needs / HH TR

2. Primary needs / YA SRl

3. Growth needs / Q@ =

4. Being needs / 3TaRIH S

Correct Answer :-

» Deficiency needs / HH TR

25) Who proposed the theory of observational learning? /ﬁ&-wﬂ"q 3fERTH &1 Rrgid oo
uxgd far?

1. Ivan Paviov / A UTIGald
2.B.F. Skinner/ﬁﬁ.w. PR
3. Aaron Beck / 3R dh

4. Albert Bandura / S1

Correct Answer :-

« Albert Bandura / SSGRT

26) A scoring guide use to evaluate the quality of students is called: / BEl B
TUTGT T YITh B & oI SIAUTA Dt S dTell T HIT Mg S = Heardt
B

1. Checklist / Tpfere
2. Rubrics / o

3. Rating scales / 37T Thed
4, Inventories /sqaﬁﬂ

Correct Answer :-



. Inventories / s_rla@ﬂ

27) Both pleasant and unpleasant feelings are associated with L/ gdq

R MG WA A SIEIeA €1

1. Double approach — avoidance conflict / fg ?’W'UT - UF{BTT oy
2. Avoidance - avoidance conflict / qﬁ%ﬂ - QﬁBTT W

3. Approach — approach conflict / g@w - ?@W oy

4. Approach — avoidance conflict / ?@W - tlﬁ%ﬂ IOy

Correct Answer :-

« Approach — avoidance conflict / PP - UREgR Tay

28) Authentic Assessment is a form of assessment in which: / UTHIOT® 3fipad 3ipad
H1UH FY ¢ foraH :

1. Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. /WﬁWW%WﬁW%WWW%
S 3MaRgE T 3R P & e U &1 TelRid #vd §

2. Students results are compared to hypothetical average student/?ﬂﬁ%qmﬁaﬂw
HIUD 3d S F B et §

3. Student performance is measured against a fixed set of predetermined criteria or learning standards

/ B & UeRH B g4 FUiRd Acs! a1 Uie & Ao & Uh Higd I & fqusia arr Sirdm g

4. Teacher determines students' individual strengths, weaknesses, knowledge, and skills prior to

instruction /@T&W EICARIE S QTW, Wﬁcﬁ, RIS aﬁ?ﬁr&nﬁﬁw“@ru@ﬁ
BRIEGERGIN

Correct Answer :-

» Students are asked to perform real-world tasks that demonstrate meaningful application of

essential knowledge and skills. / I PICAGIESICES ﬁm%ﬁﬁmﬁ%%ww%
S STIRTS T 3R HIE & 1 ST 1 USRI Hd &

29) CANCELLED
Classical gestalt theory was put forth by: / FATRIP A T frgia Fagr Uxgd IERIRIEIKIR
1. Thorndike / UTHSTZH

2. Kohler / W
3. Piaget / IERIE



4. Pavlov / UTd@Id

Correct Answer :-

30) Which of the following factors influences a child's success and failure in school performance

%ﬁaﬁ@aﬁﬁaﬁﬁ-mwﬁm@%mﬁaﬁaﬂm&ﬁvmﬁwﬁam
?

1. Parental education background / HTIT-fOdT & fR1&f &1 qgﬂi&[

2. Physical strength of child / T & IRINS qﬁﬁ\_vﬁ

3. Teachers contribution in learning process / ST ufchar § fRr&e! &1 g™
4, Social Influence on child's learning / g & AT IR IR gyTd

Correct Answer :-

« Teachers contribution in learning process / T Ufchar | fR1efe! &1 arTaH

Topic:- General Hindi (L1GH)

1) AYR-AYLR W U e
g wfafe ufaeror afooe
firaaw &1 9y seifed !
TRY e faga yu a4

TG HIH-A1 ga ¥, Jg-a-!

2 wory &1 Ry srafkfm,
R STae &7 319 T
Ja®-ad WY U ol

R faa sHa o=

AT ¥ TF AT ST,
fay-zray RR A pgar
B, 9 5T yTan g e
Rrgx-Rigy W dius sen
Sed Y H ¢ S HSID
we-g fa i o
e AR 1 S Serdl;
fagga & R ? areen
faga-fagw # dtue s
ST UL P UgHR 1 IR W 9T W= BT @ a1se|



UR: “YAS-JaP’ T DI-IT AP 82
1. yifoqm=

2. G Tad YT

3. JHET

4. 3t

Correct Answer :-

2) AYR-AYR W IUP oa!
gu-g wfafe= ufaaror gfaua
fraaw &1 9y sefea o
TRY e faga yu s
Tgd HIF-91 gd ¥, Jg-a-!

2 yor 31 Ry SraRf,
W e BT 3] TA-TT@
Ja®-qa® WY <Ius o

ar iad s iad o

T TE G ST BT
fay-=ray AR (A dear &
B, 9 5T uTan g e
Rirge-Rige W Sius s
Sed 94 ¥ <E eI
He-gH fa fovam diue
T AR BT 3 SAeld;
fagyga A fran @ sreen
fada-fada N due o
ST U= B Ugdh A7 IR W 91d U= BT Sk 9a13¢1
W AW fhd ogd §2
1. TICRTT 3T U i

2. Rafsar &t

3. AYTRd! B!

4. YR BT



Correct Answer :-

o TBIcTTT T Ui i

3) AYR-AYR W U o
o1 wfefe ufaaror wfaue
fraaw &1 9y sefea H
TRY e faga g e

TG HIH-1 gd ¥, Hg-a-1!

3 v 31 Ry srafifire,
X ST BT 319 T
Ja®-qad 1R s o

ar iad e Taq

I Y& g4 Saret Hur;
fay-zrau RR T pgar
B, 9 5T uTan g e
Rrgz-Rrez WY ius wren

S TH H 39 SIS
He-gH fa foam duw
SHY ARR BT I Sadl;
fagga & R @ Sreen
faga-faga W e wa
ST Ui F UgH A YD S aTd U= HT S garge |
WH: <3Uff ST 1 Aaad 82
1. UfqHT Sfgd

2. GO R d

3. SUTHIOID

4. STIAT AT 3UR

Correct Answer :-

o ST a1 3R

4) TR-ALR W U T
gu-g wfafe= ufaaror afaue
ﬁ_rqaw_ PTUY 3raAifepd B!



ARY Terr faqe U o=

gd HIH-91 gd ¥, Jg-a-!

2 v &1 Ry srafkfr,

X ST BT 319 TA-TTd
Ja®-qad 1R U o

ar <iad e Taq

I Y& g9 Sarer Hur;
fay-zrayu RR T wgar &

B, 9 5T uTan g e
Rrgz-Rrez WY ius wren

S TH # 39 ST
He-gH A fovam duw

AT AR BT 3 SAeld;
fagga @ fRar @ sea
faga-fga W e wa

ST U P UgH 11 IR WM 9T U= BT @ ga1s¢|
T=: R YA GeTaR T T 3114 872
1. T A PIS T8l

2. RR wnfery

3. RR O od &

4. 9gd UHTATT AT

Correct Answer :-

5) AR-AYR W P e
- wfafe ufaeror yfooaa
firaaw &1 9y sreifed o
TRY e faga yu s

g HIH-H1 gd ¥, Jg-a!

2 yoTr o1 Ry sraffr,
R SHae &7 3] T
Ja®-a® WY U o

aw Xad s Tad



HIT I8 g ATl BUL;

fay-zray RR ¢ sgar &

B, 7 o7 T g fran

firgv-Rigr W dus o

Sad 7Y § 39 IHES

We-gH ford b tues

ST AR BT S STerel;

fagga @ fRRar @ sree

fada-fada | fue oo

SUY UL B TG 4 TS W Tl 9= $T IR qargy|
WA gl HIF AT YA ¥ Yg a1 I 71 aread 32

1. 0 A B 6T

2. SR A g oI € o &) 31U 99 $@ fUge a1feu
3. Jga HIF e ST @

4, T P ST IS B @

Correct Answer :-

. SR A fUgd S1a1 g o g Sue! 96 $3 fUaemT a1gy

6) HYR-AYR WY ush oen!
g wfefe ufaaror yfaua
fraaw &1 9y seifed o
TRY e faga yu e
TG WIH-A1 gd ¥, Hg-a-1!
2 wore &1 Ry srafkfr,
R ST &1 319 TA-TTd
Ja®-qad 1R U o
ar aa s A

T TQ G ST BT
fay-=ray AR (A dear &
B, 7 o T g3 fren
Rrgz-Rer WY fius wren
SIed Y H ¢ S HSIP
He-giH o foam diuw



STeTHY IR T 3 S ddl;

fagga @ Rrar @ ST

faga-faga W Sy o

ST U= $ Ugh A12 IR W 91d U= BT Sk 9a13¢1
W SATAT-HUP {5 HgT a1 32

1. B SN HI TGS

2. HId 3T BT TYAH 3

3. 590 § IS TEt

4. M DI AUC 3R 3T BT TYTH 3 G

Correct Answer :-

. 3T &} AUC 3R T BT TYAH 3 g1

7) AR-AYR W D e

o wfafe ufaeror yfaua
firaaw &1 9y sreifed o
TRY e faga yu e

g HIH-H1 gd ¥, Jg-a!

< v 31 Ry Sruffra,

R SHae &7 31 T
Ja®-a® WY U o

aw Xad s Tad

AT T8 g9 SATaT HUT;
fay-zray RR A wgar &

B, 7 o7l T g3
Rirg-Rgy W dius ot

Sad Y H ¢E SIS
Ae-g e fra o

T ARR T S SIerdT;
fagga @ fRRar & gree
fagw-faga W due o

IuYed e &1 Ugh? R Y oM 91d U= $T S« 9a13¢ |
s fay Ay Suw & a1y i T ST argdan 82
1. 7T X8 &1 S1fA=sT & HRUT



2. BHAl & BRI

3. 3TH I PIs g
4. gt <iueh & AT ST I18dT ©

Correct Answer :-

. TaT U & 91 o= Iredl @

8) AYR-AYR W U o
- wfafe ufaeror wfoua
firaaw &1 9y sreifed o
TRY e faga yu e

G WIH-A1 ga ¥, Jg-a-1!

2 worr o1 Ry sraffra,

R SHae &1 319 T
Ja$-Jasd AY Sus oa!

aw ad srad Tad

AT 38 g9 SaTaT B
fay-zray RR A wgar &
B, 7 o7 T g e
Rrg-Rgy W dlus sren
Sad T H ¢E SIS
We-g e fpe o

T ARR HT S el
fagga @ R @ srqa
fagw-fagw W diue o
IuYed TEi &1 Ugh? -+ Y oM 91d U= &7 S« 9a13¢ |
U: WL U I T aredd 82
1. HTT-EITH o HERTed
2. S dlus As A8

3. 4l &l oA Wg A8

4. IR} &1 Qg UP HaT T g

Correct Answer :-

. dRI &1 Vge Iud HeI T8



9) HR-AYR W §u® o
- wfafe ufaeror yfoua
fOraraw &1 uy sireifed wv!
TRY e faga yu s

gd WIN-I1 ga ¥, Jg-a-1!

3 v 31 Ry srufifra,
R SHaeT &7 3] T
Ja®-Jad 1R S o

ar 2iad e o

AT T3 g9 ST BT,
fay-zray RR T wgar &
B, 7 o T g3
Rrge-Rige W Sius s
Sed Y § ¢ S HSIP
We-g fa i o
ST AR BT S SAeld;
fagga @ fRRar @ sree
fada-fada N fue o
ITYed Ui &1 Ugh? R YD oM 91d U= $T Sk 9a13u|
WA YT 37U &4 BT fodd YR et vl 82
1. TSTS ISP

2. AU PI THHY AR B
3. Ul SR

4, 9 A Y TH I8! TIdT ot HAThR &H Had BT §

Correct Answer :-

.« O Y TH TS! UTaT o HeAThR &H S Rl

10) HYR-TYR W EUS T
g yfafes wfaeror uioaa
firaaw &1 9y seifed o
TRY e faga yu a1

qgd HIF-1 gd ¥, g-a-!



fay-=ray AR ¢ dear &

B, 7 o7 T g3 fren

Rrge-Rrgr N fuss wran

Sed Y H ¢ S HSIP

[g-E fa fpaa duw

W YRR HT ST el

fagga & RRaT @ Sreen

fada-fada | fue oo

S UL $ UgHR 1 IR WH 9T U= BT @ ga1se|
WR: TRgd Piaar § Sty 3 Fraaw fFrad vdie &2
1. T A PIS a1

2. A9 W T Oaw Hfere &1

3. 37 RIS UH 3R TG B

4. & SR Ui &1

Correct Answer :-

. ud W9 H1 Oy wierd &
11) AYR-AYR W 9P T
- wfafe ufaeror yfaus
fOraraw &1 uy sireifed wv!
TRY e faga yu s

gd WIN-I1 ga ¥, Jg-a-!

< vt 31 Ry SraRfm,
R SHae &7 3] T
YP-Jad &R U ST

ar 2iad e o

AT I3 g9 STl BT,

fay-zrau RR T wgar &



B, 9 o[ U g3 e

Rirgx-Rgy W dlus oan

Sod T4 # 49 eI

We-&H fa fraA diuw

WAHY ARR BT I Sedl;

fagga @ fRRar @ sree

fagw-faga | v o

IuYed Ui &1 Ugh? 1 Y oM 91d U= $T S« 9a13¢ |
W=A: FafEl A fud F fFan R A 7oA B BT 2
1. e AYR-HYR

2. Had faga-fogy

3. ael YeIdh-Yaih

4. Iugad it

Correct Answer :-

- Sugaa

12) AYR-AYR W U e
g wfafe ufaeror afooe
firaaw &1 9y seifed o
TRY e faga yu a4
qgd HIH-1 gd 3, g-a-!
¢ vt 31 Ry Sruffi,
R ST &7 319 T
Ja®-Ja® WY U !
R faa sHa o=

I TQ G ST BT
fay-zrayu RR A pgar &
B, 9 5T uTan ggr e
Rrgx-Rigy W dius sren
Sed Y H ¢ S HSTD
He-gH o fovam duw
e AR &1 3 STerdl;
fagga & R ? aeen



fagu-faga W due wren

I Ui P UgH? T IR S aTd U= BT I qarge |
W= Bat T vy raifhd BT a1g TE B2

1. 30 fORraH &1

2. foo it b1 8T

3. foo il TSIl B

4. HE 9d R &1

Correct Answer :-

. 3O fUadH &1

13) AYR-AYR W 9P oa!
- wfafe ufaeror yfaua
fOraaw &1 7y srreifed w1
TR e faga yu s

g WIH-I1 ga ¥, Jg-a-1!

2 voTr o1 Ry sraff,
R SHae &7 31 T
Ja®-Ja® O U o

aw aa s Tad

AT T8 g9 STl BT,
fay-zray RR T wgar &
B, 7 ol T g e
Rirge-Rige W dius sn
Sed 94 § 9 .S
He-gH fa fvam due
ST AR BT 3 SAeld;
fagga @ fRar @ sree
fada-fda N due o
ITYe Ui &1 Ugh? R U oM 91d U= $T S« 9a13¢|
U AYR AYR W NP o widar &1 died 399 A fra w Ak 82
1. Hdd sl DI MRI TR
2. Had IHhd [6F 3fHq TR

3. 399 A B TE _



4. Teg)} P1 MG 3R Tw [T 3ic Sl TEt
Correct Answer :-

. T[] B RT3 Y ffT 3 T Tat
14) AYR-AYR W HuF e

oI wfefe ufaaror yfaua

fraaw &1 9y seifed o

TRY e faqa yu e

qgd HIH-A1 gd ¥, g-a-!

2 U1 1 Ry Srafefir,

o Sftaq BT 3] T
Ja®-Jad 1R U o

fay-zrau RR T pgar

B, 9 5T uTan g e
Rrge-Rigr W uw s

SIed Y H ¢ S HSIP
We-gH fAa fpaa duw

W ANR HT 3 el
fagga @ fRar & srea
fada-fada | fue oo

S U P UgH 1 IR WM 9T U= BT @R qa1s¢|
W=: STGdl Bt 1 faRiar ga1s TS 82
1. 96 BT BId &

2. STEd AHF H 8l §

3. 590 q IS &t

4. STeall ¥ foroTel gYit §

Correct Answer :-

. SIea # el B @

15) HYR-AYR W UH e

-G wfefert Wi ufquw



forad &1 9y srrelferd o

TRY et faga yu s

g HIF-91 gd ¥, g-a!

3 v 31 Ry srufifra,

W e BT 3] TA-TT@
Ja®-qad 1R U o

ar iad e o

I Y& e Saret Hur;
fay-zrau RR T wgar

B, 9 5T uTan g e
Rirge-Rig W Sius s

Sed 9 ¥ ¢E e
We-g fa i o

ST AR BT 3 SAeld;
fagga @ RraT @ ST
fadu-fada N due o

ST U= F Ugh A12 IR WM 91d U T Sk 9a15¢|
W §iuw 3 e a1a o1 3 fsar s I 32
1. 3B AT

2. 98 B U 3R & oA S 3@
3. 98 HH a1 4R

4. Toefee &1 Sfrare] 7 B

Correct Answer :-

. 98 TR U 3R &R faT ot g

16) WRAAY HUT B STAYA 3, TE PO BT 3MFe A ¢ 1 7T 7 o7 4107 59 0 A tReAl W vl SR uia
TG g, FeTiIe I 0T A Hel BT ¥t yaa- guR 981 goi gh | Hidg Y-t &1 yrhi=aq I g,
T} 3991 9T | 9 §9R a4 ugd g1 9ot dtl Bae ¥ sM® W@l R daeTd AT § Syl ar
frwamig @) deftadr 3R T yaferd e 819 & uwr fied €1 55 99 99T &1 U HEHIa® UT| 55 &I
AP & FAeH Tus o 3A® e a1 fhaef~ar 1t o gat Y | war 57 frye) 3k wyrsi # sraififa
At 3 Y IfammyT 3= 3y # e SRS faRaR &) T §U HBHI &1 erar 9 vEdl 31 S R A
FIAG (1/32) PTUE AW USHA R :

" g% &b IRTSHHY BT U Bl §, i I aore) A Tad ugd fHar 31 39 $ifg (e SRIR) 31 4R, 9
P YRT P yarfed fHar 3R uda w Al & e 3w @ian| 5= A 39 3ifg #Y AR R, st udd wR gar
Y71 U7 A 375 & T as1 s9man ATl (3= A 9 € Afea &1 Ivar @iar,) ¥ g5 el Y v 5 R a6t

3R 98 AT I YA 96 P YWR H1 & fore Fraur= fbar ok a9 § oifg W weR frani 3= A vranfaay
3t arar &1 faRY frar | I3 g, 3T 3R SMTHT=I F1 3FTgd 11 HP UYTq 5% HT HIs /M AWM §5 A
A F 30T B VY PIe STAT, S IS B STferal H1d orell € 1 7 Rl R IR UsT| e e g dR = d



S TAT YT 375 AIHUTRA B, ST 3P 3T DT gHA fHUT1 71 T3 375 & USRI &1 B g HobdT Y12 98 T
WE A ERTI W 1Y 3R Uld He o1 W M 3T 375 | dSTS R} &l | 375 7 3T §is R 997 | weR fwan
(HTRYT) I YT HIS & PIad 38 GHdl 82 T $ CHS-cPS 81 T4 | 99 o[el BT WaTg Al $t Iy
I & R 37 F SR A 98 I3TI T A T B URT B AaRGwd 1P 3@ ATI 39 T8 T I A1 g3 98
T[T AT §5 A g3 31 faxrgi arar W) W weR ) urar S R, 73 - ust 311 93 3t vrar v uSh <,
TR T 3 58 & 1Y TS 81| g BT Yd IR 3T Fd-URT A TST AT, St FHT1 ) Srelt, fasma 8
Pt | 3t T & 99 | gD al o 3t TF ST g3 AT SfF ITBT V&P UT| FY 77 I Y A A B,
39§ 3T O B YIS B AP @7 AT

IUYT T B UG 1 IR T U= P Sk qa15¢|
U: §5 & forg feam a9 a=mar am?

1. R

2. @PTA

3. MYHIPAR A

4. Gadnafi 4

Correct Answer :-

L

17) HRAIY HUT B TAYH 3, T§ PO B7 3Fe ¢ 1 TTH A o7 4107 59 ¢ A tReAl W Ul IR via
TG g, FeTiIe I 0T A Hei BT ot vae guR g8l goi gh | Hidg fAy-anfee &1 urhi=aq I g,
fora®t To9T 39T @ $ TOR a4 Ugd g g@t Al g § M RIAI R dahel 9IS | He ar
freamie @) defadr 3R T yaferd faem 819 & uHT fied €1 55 99 99T &1 U HEHIa® UT| 55 &1
AP g1 Brafed TS § 3 fayes a1 fhagi~mar 1t o gat A | et 39 Ryt ok wute & srwififa
At 3= Y Ifammur A 3y § e SRS faRaR &) T §U HBHl &1 efar 9 vEdl 31 3 R @
F1AG (1/32) PTUE AV USHIT @ :

"H g P URTHHI BT qUIF BT §, T8 39 TR I Jad U fhar 81 391 3ifE (W 3RR) H! 4RI, oA
P YRT B! yarfed fFar ik uda w it & fere 3 @an 3 7 39 oift 3 aR Rrman, ot udd w gar
ATI BT A 55 & AT a5 T 411 (35 7 oY €Y Afeal &1 I @iar,) YTt g8 4l 3t ave e 1 ot
3R 98 IET| I U T6 DI UWR B P ¢ T fHar iR 997 9 ¢ift W wer fan1 3= 2 urarfaay
3t urar &1 ARy farar | I3 G, ST 3R SMHT=I H1 3FTgd 11 TP UYTq 5% BT HIs /M AT §5 A
T 3N B VY P ITA1, 9 Us o1 Sl H1d ot 81 g el R AR usT i ey g iR g=
TS TAT ATI §5 WAL 8, I 3P IF3HT BT g0 a1 31 99 575 & UeRI b1 $A g TPl 412 T8 T
WRE W FRTI W 1Y 3R Ulq B 91 W W 391 5% | a8 oIl 7@ | 575 A 39! e iR 991 @ weR fawan
(ATYRYT) I YT IS & GHIEA A 38 THdT 22 §T B ¢hS-¢PS ol T | a9 T HT Ya1g AN b1 @
T & U 93 & SR A 98 3371 T3 A 9d Ft YRT Bl TaRGKi AP 7@ UT| 3F Tg! o I gal g1 98
T[T AT 55 A g3 31 Wfaagi= arar W) weR ) urar S R, 73 - ust 311 93 ot vmar v uSh <,
R T 3 98 & 1Y UST 81| g BT d IR 3T Fd-URT A TST AT, St FH-T1 7Y Srel, fasma 8
Bt | 3 S & 99 | Fip) dt 7 3l aF FBT g3 UT| AT IHBT T&F AT A7 ufor I Y AP A
9§ 3T T B YIS B AP @7 AT

ST TR B UghR 1 IR T U= T Ik qa13¢|
U: $% DI "al & forg T firedi?

1. RISy

2. favra

3. LT

4. IRIehH



Correct Answer :-

18) WRAAY HUT B STHYH 8, TE FoT1 BT 3T 2 81 77 A ForT 4107 59 1 Y er Al W vl IR ula
TG g1, FeIferd I3 THT A Her BT Wi Ut guR T8l g1 §11 B1ag fay-anfge &1 uriiaw 3= 8,
ot @1 9T ¥ $9 g9R a4 ugd @ gt At B H M WA W dbeid gue § S Al
framg 3t e ihar ok te yafed fawur g9 & yamr fied §1 5+ 39 999 31 U HgF ATl §75 &)
AP & HIAeH U A 3 s a1 fhaef~ar 1t o gat ff | warit 3 fryel 3k wursi # eraififa
§t1 3= @) IfamYT 3 Sy B U Siu=aiiie faRaR 3 WHe §U HE! BT Sl 9 It 81 3H e /A
FTAG (1/32) PTUE AV USHITR :

"H g7 &b WRTHHI BT quiF Ha1 §, e 3T a1 A 9ad ugd far 81 39A 31ff (AT 3RIR) Y AR, 5d
Pt YRT BI yarfed fHar iR yda w ATt & forg e @ien 5 7 39 3ift 3 uR fRman, <t udd W gar
YT T A 55 P T a51 99mar 411 (37 A 9 ) Afea) &1 3an wiar,) ¥4 g3 Tl Y v o R a6t
3R I8 TATI I/ U T B UW@R 1 & fore Fraur= forar iR as1 9 31 R weR fFar1 5= 7 aranfaay
3t AT &1 faty favar | 3u g, 3T 3R SThT=I H ST fFaT| U Uy 375 P1BIg A AT S/ A
T F 3T B) VY PTe STAT, HA VS B! SIrAT SIS oITell 8 1 T Rl R R UsT| 7eu v g dR g5 A
S T UTI 3% WU B, I 3 W3 BT gH fFa1 81 99 575 & USRI Bl $A g bl 412 98 T
WRE W BRI W 1Y 3R UTq Fe 91 W W 39 3 | a8 ol 7@ | 575 A 39! e iR 991 | weR fawan
ATYRT) 8 YAT IIS & HTad § 38 TPHdl 82 TT & ¢hS-¢Pbs 8l 0| a9 I P YaTg Al &1 g
T & U g7 & S A 98 3371 T3 A 9d Ft YRT B TaRexit AP 7@ UT| 3F Tg 5 39 eal g1 58
BT UTI 575 A g3 & faas = #rar R i weR foran) aar SwR &, g2 i ust o1 33 ot 951 9 vt <,

S T TR 998 & 1Y US) 81| T BT Yd IR 39 TA-URT A UST AT, 5l FHAT Ta) s, gy 78
FRat | 3 I & 99 ° gD al o At TF THT g AT 3UfF BT V&P UT| FY o7 IR i b A
I Y I A B YRTSH B A T@T AT

IUYe TRIIR B USH 19 IR 7T U= $T I« ga1su |
WRH: 1Y 3R UTd ®e oM R Wi fraA g5 9 g o) 3@

1. 0T

2. 97
3. g
4.8

Correct Answer :-

19) WRAaY HYUT B THYH 8, TE HoT1 H7 3Mfe 2 81 77 A ForT 4107 59 0 A eR Al W vl IR ula
TG g1, FeIferd I3 T0T A HEr BT Wi Ut guR T8l g1 811 H1ag fay-anfge &7 uriivaw 3= g,
et T 9T ¥ 79 TR a4 Ugd @ gt At B H 3Md WA W aeheid gue § S Al
framig 3t e ihar ok te yafed faur g9 & yamr fied §1 575 39 999 31 U6 g ATl §75% &)
AP & HIAeH U A 3 s a1 fhaef~ar 1t o gat ff | sarit 37 fryel 3ik wursil # el
§t1 3= @) Ifammyr 3= oy # T Siu=aiiie faRaR & WA gU HEl 1 el 9 e 1 3H e /A
FIAE (1/32) PTUG M USHIT @ :

"H g7 &b WRTHHI BT 9uiF Har §, e ST a1 A 9ad ugd far 81 39A 31ff (ATS 3RIR) Y AR, 5d
P YR P yared fpar 3R uda w A & R 3w @ian 3= 7 39 oifg &) AR R, 5 udd wr gar
YT G A 55 P T as1 99mar 411 (3% A 9 ) Afea) 1 3ar @iar,) ¥4 g3 1l Y ave o R @t

3R I8 TATI I U T B UE@R H & forg Fraur— forar iR as1 9 3ife iR ueR fFar1 5= 7 aranfaal
3t AT &1 faiy farar | 39 g, 3T 3R SThT=I B 3T fFaT| U YT 375 ST HIg AP AT §H A



A D ST DI TH DI STAT, I U i STl ST Al 81 77 Rl W AR USTI AU dd g7 dR s 1
TS TAT UTI §5 WU B, I 3P IF3HT 1 g0 fHha1 31 99 575 & UeRI ) A g APl 412 I8 T
TRE W BRI W 1Y 3R UTq B 9 W WY 39 3% | a8 ol 7@ | 575 A 39! e iR 991 ) weR fawan
(TTYRUN 9 YT TS F YPHTadd A 383 bl 82 97 P hS-¢hS 8 T | a9 d b1 T8 aNN &1 Iy
T & U g3 & S A 98 3371 T3 A 9d Bt YRT Bl TaRGxit AP 7@ UT| 3F Tg o 39 eal g1 98
QT AT 55 A g3 31 faag i wrar wR ff weR ) wrar S R, 33 -1 ust 311 93 3t wrar v uSh <,
SR T 3 98 & 1Y TSI 81| g BT Yd IR 3T Fd-URT A TST AT, St FH-T 71 Srel, fasma Y
FHdt | 3 S & 99 B Fip) dt 7 3l aF FBT g3 UT| TR IHBT T&® UT1 A} ufor I Y AP A
9§ 3T oA B YRTSH B AP @ AT

IU TR B UghR 19 IR T U= T Ik qa13¢|

UR: S5 A O g AT &1 TRar Wiar al U fh v 981 I ge
1. I I AG

2. IRA DI IRE

3. STGdl DI RE

4. 3UTch g8 T} @1 RE

Correct Answer :-

. S g€ T B e

20) HRATY HYUTHT THYH 2, T8 HeT1 BT 31T I 81 AT 7 o1 &107 37 37 $ oRefl W vgedt IR uiq
@I T, FeTrad I w9a A Fer1 $1 i y=e AR I8 gof 11 H7dg [9y-A1fe &1 urdi=aw 9 3,
et T S @ O TR 99 Ugd §f gt N BAG B oM WA WX awhIeie TS § HEH A
framg 3t Aeihar ok T yafed faur g9 & yamr fied §1 575 39 999 31 U6 g ATl §75% &
AP & HIAfeP U A 3 s a1 fhaef~ar 1t o gat ff | warit 3 fryel 3k wursii # sravififa
At 37 Y IRamYT A 3Ty # U Ui faRaR #Y T §U HEH! &1 efar 9 vEdl 31 39 e
FTAG (1/32) PTUE AV USHITR :

"N g7 b WRTHHI BT 9ui Ha1 §, e S0 aoret A a9 ugd far 81 39A 3ifY (ATS 3RIR) Y AR, 5d
Pt YRT BI yarfed fHar iR uda w ATt & forg I @ian 5= 7 39 3ift 3t uR FRman, <t udd W 3gar
YT TP A 5% & T a51 99mar 411 (37 A 99 & i) 1 3ar wiar,) ¥4 g3 Tl Y v o AR @t
3R 9 I I 3UA 961 DI UWR B P A THaur fHar ik 997 9 ¢ift W= wer fan 3= 3 urafaay
ot urar &1 faRiy farar| Iun G, IuT 3R STHTR H TG fHaT| 3P UYT 3% PIDIg I AW TR A
T & 30T B VY PTe STAT, S IS B1 STrar SIS STell § | T Rl IR IR ST 7 b g dR g5 A
S T UTI 3% WU B, I 3 W31 BT gH fFa1 81 997 375 & USRI B $A g bl 412 98 T
TRE W BRI W 1Y 3R UTq #e 9 W W 39 3% | a8 ol 7@ | 575 A 39! e iR 991 @ weR faan
(ATYTROT) A HAT HIS & P | 38 THdl 32 TT P gho-cPs ¢l T | a9 9 d $T YaTg ail t Irg
T & fU g3 & S A 98 3371 T3 A 9d Bt YRT BI TaRGxi AP 7@ UT| 3(d Tg 5 I egal g1 98
QT AT 55 2 g3 B faagi= wrar wR ff werR v urar S <R, 33 1 vst 311 99 ot vrar v uSh <R,

S Y TR 998 F 1Y TS 81| T BT Yd IR 39 TA-URT A TST AT, Sl FHAT Ta) s, gy =8
PRt | 3 g & 99 ° gD al o At TF THT g AT SfF ITBT V&P UT| Y uioT RN i Ap A g,
9 ) I A B YRTSH DY A T@T AT

IUYe TRIRI B TSP 19 IR 7T U= $T I« 9a13¢|
U=H: 55 304 791 ¥ {59 SRR &1 4R

1. 3ifg

2. AgIRR

3. dPRR



4, 14U}

Correct Answer :-

21) HRATY HUTH THYH ¢, T8 BT $T 31T I 81 77 7 For &107 39 3 3 oRefl W vgedt IR uiq
T@T g1, FeIferd I TUT A Her 1 i Ut guR T8l g3 811 Biag fay-anfee &1 uriiaw 3=y 8,
oIt Ta T ¥ $O TOR a4 Ugd g gal At Bide W oMe WA W AhTE GHTS | Hg am
frwamng ) diefadr 3R e yaferd faer 817 & uwmr fiad €1 57 99 99U &1 Uk HeHIa® UT| 575 &I
AP & HIAed U H sA® s a1 fhaef~ar 1t o gat ff | sarit 57 frye! 3ik wyrsil # sl
§t1 g @) TRamYT 3 3y H U iU faRaR $ WA §U HBHI BT Slar A I 1 3H R /A
FIAG (1/32) PTUE AV USHIT @ :

"B §% & TRTHHI BT JUI Hal §, g S0 aoURY 3 ad ugd fhar 81 39+ 31 (AT 3RIR) Y 4RI, 5d
P URT P yarfed fHar 3R uda w A & R 3w @iar 3= A 39 oifg &Y AR fRma, 5t udd wR gar
YT T A 575 P T as1 99mar 411 (37 A 99 Y Afeu) 1 3ar @iar,) ¥4 g3 Tl $ 9w o AR #t
3R 98 AT I U7 96 P UER 1 & fore Fraur= fpar ok a9 9 oifg W ueR fhan1 3= 3 Aranfaay
3t arar &1 faRiY forar | I g, 3T 3R TR Hi 3FTgd 511 HS UYTd 575 T HIg /M AWM 55 A
qa%aﬁﬁﬁﬁwm,ﬁﬁﬁgaﬁawmm%'l FRARAR TSI TR RS TR TS
TS T UTI §5 QAU B, I 3P WF3H 1 gH- fhar 31 997 575 & WeRI ) A g AP 412 a8 T
e A BRI WR 1Y 3R U9 Fe o1 W Y 391 575 | 718 iR} 36| 575 3 S9! §is IR a9 9§ ueR faani
(TTYROT) A HAT IS & HTTA H 38 THdl 32 TT P Tho-cPs 8l T | 79 od $T YaTg ar 3t g
T & U g7 & S A 98 3371 T3 A 7d FI YRT B TRt AP 7@ UT| 3F Tg 5 I gal g1 98
BT UTI 55 A T3 3 Afqag i< awrar R W ugR foran) arar SR &, 93 -1 ust o1 33 &t 911 03 vt <,
TR TR 3 F5S & 1Y UST 81| T BT Jd IR 3T Fd-URT T TST AT, St Fh-71 a1 Srelt, fasma 78t
PRt | 3 I & 99 ° g1dx al 7 Nt TF ST g AT SfF ITHT V&P UT| Y IidT M i Aep A B,
A9 Y 3T oI B YRTSH B A T@T AT

ITYe TRIR Y UgH 19 IR 7T U= $T I« 9a13¢|
U=H: 3% A G, 39T 3R TR H &1 fapan?
1. 3FTqd

2. 3Tt

3. Aidbgd
4, MATHR

Correct Answer :-

22) WRAGY HUT T STHYFA 3, TE DT PT 3MFQ < 71 7T 7 R 407 59 I #} e¥eft W Ul IR ufq
@ g1, FeIferd I T0T A Heri 1 W Ut guR T8l g3 81 Hiag fay-anfee &1 yriiaw 3= 8,
oIt T T ¥ $O TOR a4 Ugd g gal At Brde W oMe WA W AhTE GHTS | S AT
frwarng &) dieadr 3R ve yaferd faem 811 & uwr fiad €1 57 99 99U &1 Uk HeHIa® UT| 575 &1
AP & HIaAed Tue o 3A® s a1 fhaef~ar 1t o gat ff | sarit 37 frye! 3ik wursil # sl
§t1 g B IRamUT 3R U B U U= faRaR $ WA §U HBH! BT Srar G I 1 3H R I
FIAG (1/32) PTUE AW USHIT @ :

"B §5% & IRTHHI BT qUI Bl §, o8 S0 9= 3 ad ugd far 81 39+ 31 (AT 3RIR) Y AR, 5d
& YR ! yaTfed fhar ok udd ur Afeat & g vy @iem | 57 3 39 31t Y AR FRran, ot vda o= g
YT GO A 55 P T as1 99T 411 (37 A 9 8 Afeu) &1 7ar wiar,) ¥4 g3 Tl $ ave o AR #t



3R 98 IdT| 3T U I B @R B34 & ¢ AU fHar iR 957 ¥ 8ifg W ugR fvan| 3= A wrarfaat
Tt urar &1 faRY farar | I3 g, T 3R SMTHT=I H1 3FTgd fHaT1 HP UYT 575 BT BIs I AT §5 A
I P 3T B VY PTe STAT, Y U B! SIferal H1d orell € 1 7 Rt R R usT| e v g dR =
TS T AT 35 WA ], U 3 WI3M &1 30 fPa1 ] 1 99 55 & UeRI &t A g THhal 412 98 T
WE A ETRTI W Y 3R Uld He 1 W M 3T 35 | ASTS TR} &l | 375 7 ST fis R 997 | WeR fowan
(TTYRON) A HAT IS b HTTA | 38 IHdl 32 TT P Tho-cPs 8l T | a9 el $T ¥aTg arl 3t iy
T & U 77 F FW | 98 I3T1 T A Fd B YRT B JaRewd! 1P 3@ UTI 39 T8t o I AT g3 98
BT UTI 5% A T3 & fqag i< wrar wR Wi ugR foran) arar SR 8, 93 1 ust o1 93 &t 911 03 vt <,
TR T 3 I9S & 1Y TSI 81| T BT Hd IR 3T Fd-URT H TST AT, St SH-71 71 Srelt, fasma 8t
Pl | 3 ST & 99 A bR al 5 31t I ThT 53T AT 3T IHBT Ve 4TI A ufdr 1 1 A A 7,
I 8 3T oI B YRTSH B AP @ AT

ST TR Y UG ) ID T U= o1 Ik qa1su|
R HIRAaY HYT B P-4 Y 82

1. S Y

2. SR YA

3. HHYH

4. SR YA

Correct Answer :-

23) HRATY HUTH] TAYH ¢, T8 BTl BT 31T G 81 774 7 R &107 39 3 FY oRefl W vgelt aR wiq
TG g, FeTiI I 0T A Hel BT ¥t yae gUR 981 goi gh | Hidg fAy-a1iee &1 urei=aq I g,
T} 991 ST | $9 §9R a4 ugd g1 gl gt Hae ¥ 3M® W@l W daeTd AT d Sl an
frwamig @) defadar 3R Te yaferd fAem 817 & uHT fidd €1 5% 99 GHY &1 U HeHIa® UT| 575 &I
AP & FAed U W 3A Ay a1 fhaef~ar 1t o gat Y | war 57 frye) 3k wursif # sraiffa
§t1 g Bt TiAYT U STY B TH U= fIRAR $F 9He gU HEH! BT ol G- IEdt g1 gH R A
PG (1/32) PTUE W USHI R :

"H §5% &b IRTHHI BT 9l Hal §, e S0 aorUR A aw ugd far 81 39+ 31 (ATS SRIR) Y °aRT, 5d
P YRT P yarfed fHar 3R uda w Al & e 3w @ian| 5= 7 39 oifg &Y AR R, it udd wR gar
4TI U7 A 3% P T as1 s9man ATl (3 A 9 &) Afea &1 3var @iar,) ¥ g5 4l Y v wa R #t
3R 98 TATI I U T B} YW/R H & fore Fraur foram ok a91 9 81 iR weR fan| 3= 7 aranfaal
Tt arar &1 faRY frar | I3 g, 3T 3R SMHT=I F1 3FTgd 11 SHP UYTq 5% BT B [ AT §5 A
A F 307 B VY PTe STAT, S U H1 STferal H1d oTell € 1 7 Rl R IR usT| 7 e g dR g5
TS TAT ATI $5 WHURA 7, I 3 31 BT A fHa1 81 99 575 & USRI B HA g JhdT 412 98 T3
RE A BRI W ETY 3R Ui He oM W I I 35 § 79T oIRT T | 575 7 S0P! 1l W a9 & WeR b
(HTRYT) 6 YT IS & PIad § 38 GHdl 82 TT $ CHS-¢cPS 81 T4 | 99 el BT UaTe Al Bt Iy
I & R 37 F W A T8 I3TI T A T B URT B} AaRGwd 1P 3@ ATI 39 T8 T I A1 g3 98
T[T AT §% A g3 31 Wfaxrgi drar W) W wgR o) urar S R, 73 -1 ust 311 93 ot vrar v uSh <,
R T 3 98 & 1Y TS 81| g BT d IR 3T Fd-URT A TST AT, St FH-T 71 Srelt, fasma =8
Pt | 3t T & 99 | g al 7 3t TF ST g3 AT SfE ITBT TP UT| Y Ti7 I Y e A B,
Y Y 3T oI B YRTSH B AP @ AT

ST TR B UG 1 I T U= o1 Ik qa1su |
WH: BIAG fAY-AIeed BT HAT U AT A1 52
1. UrIHTH

2. Uit



3. YT
4. AHPHTAN

Correct Answer :-

24) HRATY HUTH STHYH ¢, T8 BT ST 31T I 81 774 7 1 &107 39 37 9 oReft W vgeit aR uiq
T@T g1, Pt I TUT A Heri 1 ff Ut guR T8l g3 81 B7ag fay-anfee &1 yriiaw 3= 8,
ot 1 9T ¥ 79 s9R a¥ ugd @ gt At B # sMe WAl W abeid gue # S Al
frwamig ) defadar 3R Te yaferd fAem 819 & uwmr fied €1 5% 99 99U &1 U HeHIa® UT| 55 &1
AP & FIAe® Tus o 3A Ry a1 fhaef~ar 1t o gat Y | warit 37 frye) 3k wursil # srafffa
§t1 g Bt IiAYT U STU H T MU= fIRAR $ WU gU HEH! BT olaT G IWdt g1 gH R A
PG (1/32) PTUE ISR :

" g% &b IRTSHHY BT U Bl §, Rore I aore) 3 Tad ugd fhar 31 39 $ifg (e SRIR) 31 4R, 9l
P YRT P yarfed fHar 3R uda w A & fRre 3w @iar | 3= A 39 oifg #Y AR R, st udd wR gar
YT| U7 A 5% & T as1 s9man 411 (35 A 9 €Y Afea &1 37 @iar,) ¥ g3 4l Y ave 5 R #°t
3R 98 TATI I U T B YWR H & o1 Fraur= fomam ik 91 9 8ift R ueR fan| 3= 7 aranfaat
Tt urar o1 faRYY farar | I G, 3T 3R SMTHT=I H1 3FTgd fHaT1 TP UYT 575 T BIs M AT 5 A
I F 3T B VY PTe STAT, HA U B! STferal H1¢) orell 8 1 7 Rl R IR 1| A e g dR g5 9
TS T AT 35 WA ], U 31 I3 &1 30 fHa1 81 99 55 & UeRI Bt A G TPhal A1? 98 T3
TE I ERTI W Y 3R Uld Fe 1 W M 3T 375 | ASTS R} &l | 375 7 3T 1is R 997 | WeR fowan
(TTYRON) A HAT IS b HTTA | 383 IHdTl 32 TA P Tho-cPs ¢l T | a9 el $T ¥aTg arN 3t g
I & R 37 F W A T8 I3TI T A T B URT B FAaRgwd! 1P 3@ ATI 3(F T8t T I A1 g3 98
T[T AT &5 A g3 B faxrei drar W) i weR o) arar S R, 7 -1 us1 311 93 3t vrar 8 uSh <,
TR T 3 IO & 1Y UST 81| I BT d IR 3T Fd-URT H TST AT, St FH-71 ) Srelt, fasma 8t
Pl SH SN & 99 § gIPR a1 5 3nft 9 ST g ATl a@m?wmlﬁﬁuﬁrWﬁwaﬁ%
A9 8 3T oI B YRTSH B A T@T AT

ITYR TR B TSR 1 ID T U= o1 Ik Iarsu |
UR: T T Gd IR Bl UST g3l 412

1. ST |

2. SHM TR

3. TS W

4, SAYRTH

Correct Answer :-

. SAYRTH

25) HRATY HUTH STHYH ¢, T8 BTl ST 31T I 81 774 7 1 &107 39 37 9 oRefl W vgeit aR wiq
T@1 g1, eI I TUT A Heri 1 ff vaa-T guR T8l g3 811 B7ag fay-anfee &1 yriiaw 3=y 8,
ot T 91 ¥ $9 e9R a¥ ugd @ gt At B H M WAl W debeid gue # S Al
frwamig ) defadar 3R T yaferd fAem 819 & uwr fied €1 5% 99 99T &1 U HeHIa® UT| 575 &1
AP & FIAeH U o 3A e a1 fhaef~ar 1t o gat Y | war 37 frye! 3k wursi # sraffifa
§t1 g Bt TfAYT U STU B T MU= fIRAR 3 9He gU HEH! BT ol G IEdt g1 gH R A
PG (1/32) PTUE M USHI R :



"8 7% & WRTshHI DT 9uF BT g, Forg I a5t 7 Ja uge foban 71 399 3ifg (@ SRR) &1 4RT, o1ad
P URT H) yaTfed fpar iR yda w At & fore I @ 37 7 39 3ife &1 4R Rrma, st vdd wR 3gar
YT T A 575 & T as1 99mar 411 (37 A 9 8 Afea) &1 Iar @iar,) ¥4 g3 Tl $ ave o R a6t
3R I8 TATI I/ U T B U@R B & fore Frur= forar iR aw1 9 31t R ueR fFan1 5= 7 aranfaal
Tt araT o1 faRIY frar| I3 G, T 3R TR H1 3FTgd HaT1 TP UYT 575 BT B W AT 5 A
T F 3T B VY PTe STAT, FA Vs B! STerar H1E orell 8 1 7 Rt R R T 7 b g dR g5
TS T UTI §5 WHUT B, I 3P WF3Hf 1 gH- fhar 31 99 575 & WeRI ) A Ug TP 412 a8 T
TRE T ERTI W 1Y 3R Ufd P2 o1 W 3T 575 | ASTE WY 16 | 55 7 3T 1is R 997 I WeR fman
(TTYROT) A HAT HIS b P | 38 THdT 32 TA P gho-cPs ¢l T | a9 9d $T ¥aTg ar 3t Irg
T & U g7 & W A 98 3371 T3 A 9d FI YRT B TRt AP 7@ UT| 3F Tg o I gal g1 98
BT 4TI 5% A 99 &1 Wi = Arar W) ot weR fovan | arar Sur o, 33 i ust 311 93 9 #rar 09 usSh <,

S T YA TS & 1Y US! 81| T BT Jd IR 39 TA-URT A TST YT, Sl FHAT A1 S, faym =gt
FRot | 3t I & 99 H g1 al 7 At aF ST g AT SfF BT V&P UT| Y U7 IR i b A B,
A9 Y I I B YRTSH B A T@T AT

IUYe TRIRN B UgH 19 IR T U= &7 I« 9a13¢|

W BIAG A 3T Rl W Ao FHT | fhaat e irgdr & waTor fired 82
1. HTH-UIS

2. i T

3. fodRY

4, freamig

Correct Answer :-

26) WRATY ST P STHYF B, 6 ST $T 3MfS 3 31 77 A R 4101 59 31 Y el W Ugelt IR wia
T@T g1, P I TUT A Heri 1 ff UaaT guR T8l g3 811 H7ag fay-anfee &1 uriiaw 3=y g,
oIt Ta ST ¥ $O TOR a4 Ugd & gal At Brae W oMe WA W AhTE GHTS | Hg am
frwarne ) deadr 3R e yaferd faer 819 & uwr fiead €1 57 99 GHY &1 U HeHIa® UT| 575 &1
AP & HIaAed Tu H 3A Ry a1 fhaef~ar 1t o gat ff | warit 57 frye! 3k wyrsil # sl
At1 3 St Ffeammyr 3ru= 3y § T SU=nRIE fORaR &) T §U S &1 erar 9 vEdl 31 SH R A
FIAG (1/32) PTUE AW USHIT @ :

" g% &b IRTSHHI BT U BT §, Fore I aore) 3 Tad ugd {1 31 3R $ifg (e SRIR) 31 4R, 91
P URT P yarfed fFar 3R uda w A & e 3w @iar | 3= A 39 3ifg #Y AR R, st udd wR gar
YT| @PT A 375 & g as1 s9man 411 (3= A 9 €Y Afea &1 37 @iar,) ¥ g5 4l Y v wa TR #°t
3R 98 AT I YA 96 P YWR H1 & fore Fraur= fhar ok a9 § oifg W weR fran 3= 7 aranfaay
3t urar &1 faRY frar | I g, T 3R SMTHT=I H1 3FTgd 11 HS UYT 575 BT HIs /I AT 5 A
qa%shﬁaﬁﬁﬁmm,ﬁﬁﬁgaﬁaﬁlﬁmaﬁﬁ%'l FRARR TSI TR RS TR
TS T AT 35 WA ], S 3 I3 BT 30 fPa1 ] 1 99 55 & UeRI &t A g THhal A1? 98 T3
e A BRI WR 1Y 3R 79 He o1 W Y 391 575 T 718 iR} 36| 575 3 S99 fis IR a9 9§ ueR farani
(TTYRON) A HAT IS b P | 38 Hdl 32 TT P Tho-cPs 8l T | a9 e HT ¥aTg arN 3t g
T & U 77 F FWR | 98 I3TI T A A B YRT B JHaRewd! 1P 3@ UTI 3(F T8t o I AT g3 98
BT UTI 55 A T3 3 fqag = arar R Wi ugR foran) arar SR <8, 93 1 ust o1 93 &t 9ra1 03 vt <,
TR T 3 IOS & 1Y UST 81| T BT d IR 3T Fd-URT H TST AT, St FH-71 a1 Srelt, fasma 78t
Pl | 3 ST & 99 A ErpR ol 5 31} I ThT 53T AT 3T IHPT V& 4TI A ufdr 1 1 A A 7,
A9 8 3T oI B YRTSH DY AP T@T AT

IUE TR B USHR 19 T Y U= HT I ga13¢ |
UH: I GHY BT HEHIIP 5T Sadr &1 |ET1 SITar 41?2



1. fawy
2.3%
3. R
4.3M

Correct Answer :-

27) HRAGY HYUT B ST=HfA B, TE FoT1 $T IS A &1 77 7 o1 &101 59 0 Y eReft R vUgell IR uiq
TG g1, FaIfre I3 THT A HErl BT Wi U gUR Tg1 g1 11 B3aG fay-A1fge &7 uriisad 3= &,
It Yo 9T ¥ $O TR a4 Ugd gl gal At Bidg # e WA W dchId GHS | HgH AT
frwamie @1 deftadr 3R e yaferd fawT 819 & uHT fidd 81 55 99 99U &1 U HEHIa® UT| 55 &1
ADY g1 Brafed TS § 3 iy a1 fhagi~mar w1t o gat A | werit 39 Ryt ok wute # srififa
At 3= Y Ifammr 3rvA 3y # e SRS faaR #Y T §U HEHl &1 etar 9 vEdl 31 3 R @
F1AG (1/32) PTUE AV USHIT @ :

"N §5% b WRTHHI BT guiF HaT §, g S0 a9t A ad ugd far 81 394 3iff (AT SRIR) Y 4RI, 5d
P YRT B yarfed fbar ik uda w et & fere 3 @an 37 7 39 3ift & aR Rrman, <t udd w 3gar
ATI BT A 55 & T a9 T9man 411 (3= 7 oY €Y Afeal &1 I @iar,) YTt g8 4l 9t ave a1 a6t
3R 98 IET| I U 96 DI YWR H P ¢ T fHar ik 99 9 $ift W wer fan1 3= 2 urarfaay
3t urar &1 faRY farar| I3 G, 3T 3R SMHT=I H1 3FTgd fHaT1 TP UYTq 5% T HIs /M AT §5 A
T & 3N B! VY P ITA1, 9 Us B Sl H1d orelt &1 g7 8Rell R R usT HeuA e g dR 3=
TS TAT UTI §5 WA B, I 3P IF3HT b7 g0 a1 81 99 575 & UeRI ) $A g APl 412 I8 T
TRE W BRI W Y 3R UTq Fe 9 W W 391 35 | a1 ol 7@ | 575 A 39! e iR 991 @ weR fawan
HTURYT) 8 YT HIS P JHTad H 382 Pl 82 TA & chs-¢PS ol T4 | a9 5 $T ¥aTg a1 &) wrg
T & U 93 & SR A 98 3371 T3 A 9d Bt YRT Bl ARGt AP 1@ UT| 3d Tg! oA I eal g1 98
T[T AT 55 A g3 31 faagi= arar wR H weR fean wrar S R, g3 1 ust 311 93 3t vrar v uSh <,
R T 3 98 & 1Y TSI 81| g BT d IR 39 Fd-URT A TST AT, St FH-T 71 Srel, fasma )
Bt 3N S & 99 | Fp) dt T 1l aF FBT g3 UT| AT ITBT T&F AT A} ufor I Y AP A
9§ 3T T B YIS B AP @I AT

ST TR B UG -1 YD T YR P Ik Ia13¢|

UR: §5% @1 IREAT 319+ 31y § fory faaR s e gu e
1. RIS

2. FH AR

3. ARG

4. DYl

Correct Answer :-

28) HRAGY HUT B TTHfH B, TE HET BT TS A &1 7T 7 Ford &101 59 ¢ Y eReft R Ugell IR ufq
@I GRTT, BT S 0T | He1 BT W Uaa- §HR Tg1 3T R B3dG [ay-A1feed &1 yei=ad I @,
et AT 91 A $9 g9R a¥ ugd @ gt At B H e WAl W dopreld gHS # S Al
frwamie @1 deftadr 3R e yaferd fawT 819 & uHT fidd 81 55 99 99U &1 U HEHIa® UT| 55 &I
AP g1 Brafes TS § e faryes a1 fhagi~mar 1t o gt A | wert 39 Ryt ok wute & sraififa



A1 g B IRAYT U= MY F T U= fORdR &1 G §U HeHI &1 Sl A ¥Edi g1 s e &
FIAG (1/32) PTUE AV USHIT @ :

" g% &b IRTSHHT BT U Bl §, Fore I aoreT) 3 Tad ugd {1 31 39 $ifg (e SRIR) 31 4R, 9l
P YRT P yarfed fFar 3R uda w A & e 3w @iar | 3= 7 39 oifg #Y AR R, it udd wR wgar
YTI U7 A 5% & T as1 s9man 41 (3= A 9 €Y Afea &1 37 @iar,) ¥ g5 el Y v s TR #t
3R 98 AT I U 96 P YWR H1 & fore Frur= fhar ok a9 § oifg W weR frani 3= 7 vranfaay
3t arar o1 faRY frar | I G, 3T 3R SMTHT=I H1 3FTgd 411 TP UYT 575 BT HIs /I AT 5 A
I F 3T B VY PTe STAT, HA Vs H1 SIferal H1d oirell 8 1 7 Rl R IR T 7 e g dR =
TS AT AT 35 WA ], S 3P I3 BT 30 fHa1 81 99 55 F UeR) &t A g TPhal A1? 98 T
WE A ERTI W Y 3R Uld He 1 W M 3T 35 | ASTS TR} &l | 375 7 3T fis R 997 | WeR fowan
(TTYRON) A HAT IS b P | 38 Hdl 32 TA F Tho-cPS 8l T | a9 el $T ¥aTg arN 3t g
T & 1T 37 F SR | 98 I3T1 T A Fd B YRT B JHaRewd! 1P 3@ UTI 3(F T8t o I Al g3 98
T[T AT &% A g3 B Wfaxrei Jrar W) i wgR foran) urar S R, 73 -1 us1 311 93 ot vmar 8 uSh <,
TR T 3 IOS & 1Y TSI 81| T BT Hd IR 3T Fd-URT H TST AT, St FH-71 71 Srelt, fasma 78t
Pl SH SN & 99 § BRI o 3neft a9 ST gar ATl a@m?wmlﬁﬁuﬁrWﬁwaﬁ%
A9 8 3T oI B YRTSH B AP @ AT

ITYR TR Y USRI T U= o1 Ik Ia1su|

UH: 55 &1 AP &l f6y 9aTe § 3Me fyes ok fhadfaal wdt s
1. SR dfe®w

2. BidfGH

3. AHIUIDTCA

4. dfw

Correct Answer :-

29) HRATY HUTH! STHYH ¢, T8 BTl BT 31T I 81 7T 7 1 &107 39 3 3} oRefl W vgeft IR uiq
TG g, FeTiIe I 0T A HeTil BT ¥t vaa- guR 98l goi gh | Hidg Y- &1 yrehi=aq I g,
Tl 3991 ST A $° §9R a4 Ugd g1 9ot ftl Hae ¥ 3M® W@l W daeTd AT d Bl an
frwamig ) deadr 3R e eaferd e 819 & uHr fied €1 5% 99 99T &1 U HEHIa® UT| 55 &I
AP & FAfed U H 3A s a1 fhaef~ar 1t o gat Y | war 37 Ayl 3k wyrsi # sraififa
At 3 I Ifammur A 3y § T SRR faaR &) T §U HBHL o1 efar 9 vEdl 31 SR A
FIAG (1/32) PTUE N USHI R :

" g% &b IRTSHHY BT U Bl §, Rore I aore) A Tad ugd fHar 31 3R $ifg (e SRIR) 31 4R, 9
P YRT P yarfed fHar 3R uda w Al & e 3w @iar| 5= A 39 3ifg &Y AR R, it udd wR tgar
4TI U7 A 375 P T a5 s9mam 411 (3 A 9 €Y Afea &1 3var @ar,) ¥ g5 el Y ave e R #t
3R 98 AT I 3AUA 96 P YWR H1 & fore Fraur= far ok a9 F oifg W weR fran 3= 7 vranfaay
Tt arar &1 faRY frar | I3 g, 3T 3R SMHT=I H1 3FTgd fHaT1 SHP UYTq 5% BT HIs [ AT 5 A
g F 3T B VY PIe STAT, S IS B STferal H1d orell € 1 7 Rl R IR UsT| 7 e g dR =
TS TAT UTI §5 WAL 8, I 3P TF3HT BT g0 a1 31 99 575 & UeRI b1 $A g APl 412 T8 T
TE A ERTI W 1Y 3R Uld He M W M 3T 375 | ASTS R} &l | 375 7 3T fis R 997 | weR fan
(HTROT) 6 YT IS & PIad 38 GHdl 82 T P ¢HS-cPS 81 T4 | 99 o[dl BT WaTe Al Bt Iy
T & R 37 F SR A 98 I3TI T A T B URT B} AaRGwd 1P 3@ ATI 39 T8 T I A1 g3 98
T[T AT §% A g3 31 Wfaxgi arar W) i weR ) umar S R, g3 - us1 311 93 3t vrar v uSh <,
R T 3 98 & 1Y TS 81| g BT Yd IR 3T Fd-URT A TST AT, St FHT ) Srelt, fasma =8
FRot | 3t T & 99 | g al o At TF ST g3 AT 3fF ITBT V&P UT| A 77 I Y e A B,
I Y 3T oI B YRTSA B AP T@T AT

ST TR B UGHR 1 IS T U= BT Ik qargu |



UH: 5% A 93 @1 Wfadeid b Gath w 1 uer fFar
1. AT R
2. iR

3. R
4. YA TR

Correct Answer :-

o HIATWR

30) HRAAY HUT ST STYH B, T8 HeTHl BT TS 3 8 1 AT A Fore &01 39 A2 F1 et W Ugeht 9 uiq
TET ERI, FeTrq S THy A Ferht 31 o yaa gER gl gan | Biae fAy-anfte &1 urdiaaw a= @,
et T S 3 $© TR 99 Ugd §f gat 1 B H oM WA R ahIei TS § HE A
frwaTs @t Aeiaar iR te yaferd faur 811 & wwmor firad 81 575 39 90y &7 U HgHNS 4Tl 55 &I
AP & BRRE Tue ® e fy® a1 fhagf~uar 1dt o gt <ff | werit 371 e 3k wursit # sraififa
At 3 Y IfamT A 3y # U RIS faaR #Y Tie §U Hel o1 efar 9 vEd 31 39 e
F1AG (1/32) PTUE AV USHIT R :

Y g7 b WRTHHI BT gui Ha1 §, e ST a9t A ad ugd far 81 394 i (ATS 3RIR) Y AR, 5d
Pt URT P yared fbar 3R uda w A & R 3w @ian 3 7 39 oifg B AR R, 5 udd wr gar
YT T A 5% P T a51 99mar 411 (37 A 99 ) Afea) 1 3an Wiar,) ¥4 g3 Tl $Y v o AR a6t
3R I8 TATI I U T B) Y@R H1 & fore Fraur foran ik as1 9 31 R weR fFar1 3= 7 aranfaal
3t arar &1 ARy farar| IR G, 3T 3R STHT=I H1 3HTgd 11 TP UYTq 5% BT HIs /M AWM §5 A
T P 30T B) VY PTe STAT, S U B1 SIrAT SIS ATell 8 1 T Rl R R ST U b A dR g5 A
TS TAT ATI §5 WA B, I 3P WF3Hf BT gH fHhar 31 99 575 & UeRI &) $A g TPl 412 a8 T
TE A ERTI W 1Y 3R Uld He o W o ITA 575 | do18 oRY Tl | 57 7 3T fis wR 997 I weR foran
(TR 9T YT Tis S YhTadd A 383 bl 82 97 S P S-¢hS 8 T | a9 o b1 UdTg aNN &1 Iy
T & fU g7 & SR A 98 3371 T3 A 9d Bt YRT Bl TaRGxi AP 7@ UT| 3(F Tg 5 39 eal g1 98
BT UTI 55 A g3 & faag = arar wR o weR fran) arar SR &, 33 e ust o1 93 ot 951 9 vt <,

S T 3 98 & 1Y UST 81| g3 BT Jd IR 3T Fd-URT A TST AT, St Th-T 71 SIre, fasma T8t
PRt | 3 I & 99 H gD al o At TF THT g AT SfF ITBT Verd UT| F o7 IR i Ap A B,
9 ) I oA B YRTSH B A ¥@T AT

UL TR Y UgDHR 2 YD T U $T I« FA¢

W: BIAGHTA MHUD! R HU1eii § ar saififa A2
1. FHTYOT

2. HEMl

3. ararga

4. gfagra

Correct Answer :-

Topic:- General English(L2GE)



1) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

In this passage, get out of this fix means:
1. Come out of a cage

2. Come out of a bond

3. Come out of a fixed mind set

4. Come out of a difficult situation

Correct Answer :-

o Come out of a difficult situation

2) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.



In this passage, quandary means:

1. Happy

2. Confused
3. Angry

4, Sad

Correct Answer :-

e Confused

3) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.

Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

Why did Athena decide to challenge Poseidon?
1. She understood the dilemma of the villagers

2. She wanted to snatch the trident from Poseidon
3. She wanted to rule the village

4. She wanted to prove her strength

Correct Answer :-

e She understood the dilemma of the villagers

4) Read the passage carefully and answer the question given below:

This was around the time that Athens was only a small coastal village. Poseidon, was on a
lookout for coastal towns.



Poseidon, was the god of the sea, he was a very powerful god and quick to anger. When he
noticed that he small coastal village was still developing he offered to place it under his
protection. Listening to this offer the people were in a quandary. Because Athena, goddess of
wisdom and daughter of Zeus, had also made the same offer. The people of the village didn't
want to upset either of the two deities and wondered how they could get out of this fix. Luckily,
Athena understood the problem. She challenged Poseidon with a competition. Each god would
give the village a gift and the people had to decide which is more useful. The winner of this
competition would be the patron god. Poseidon accepted the challenge in no time. As he flung his
trident against the mountain near the village water started gushing. People were excited and ran
to the stream, but the water turned out to brackish. Now it was Athena’s chance she created an
olive tree. The people were excited, they could eat the fruit, crush it and make oil, make fire and
buildings from its wood. But now the villagers were scared to announce the winner. What if
Poseidon sent the sea to swallow their homes? But Poseidon did not lose his temper. He laughed
and agreed that his niece was the winner. And so Athena became the guardian of the village,
which then called Athens in her honour.

In this passage, the phrase flung his trident against the mountain means:
1. Threw the Trident at the mountain

2. Stroked his trident against the mountain

3. Fixed the trident on the mountain

4. Knocked the mountain with the trident

Correct Answer :-

e Threw the Trident at the mountain

5) Read the poem carefully and answer the question given below:
The moon

Shadowed by greed,

Eclipsed by corruption,

The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.



At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...

Curiosity and grace have been comparedto
1. flood water

2. darkness

3. moon

4, stars

Correct Answer :-

e stars

6) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.



Mankind snaps awake from this daze
Is guilty, soon makes amends
AND the moon shines again

In its rightful place...

“Shadowed” in the first line means:
1. sadness

2. followed by

3. covered by

4, darkened with

Correct Answer :-

» covered by

7) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.
Mankind snaps awake from this daze

Is guilty, soon makes amends



AND the moon shines again

In its rightful place...

“The moon of honesty awaits her turn”... The figure of speech used is
1. Metaphor

2. Personification

3. Alliteration

4. Transferred epithet

Correct Answer :-

o Personification

8) Read the poem carefully and answer the question given below:

The moon

Shadowed by greed,
Eclipsed by corruption,
The moon of honesty

Is now dull, almost hidden.

Waiting in the wings

Of clouds of false hopes,

The moon of honesty awaits her turn

Patiently, to shine once more.

Dark forces take the centre-stage

Hiding also the stars of curiosity and grace.
Fearfully enveloping all in a crazy, mad embrace,

Filling up like flood water, all empty space.

At last! It's over.

Mankind snaps awake from this daze
Is guilty, soon makes amends

AND the moon shines again

In its rightful place...



The moon is compared to

1. attitudes in human beings
2. honesty in human beings
3. values in human beings

4. curiosity in human beings

Correct Answer :-
« attitudes in human beings

9) Read the sentence carefully and choose the option that has an error in it:

Last year our overall sales figures fell by 18%, all the same, the company suffered a major
setback.

1. Last year our overall sales figures fell by 18%,
2. the company suffered
3. all the same,

4. a major setback.

Correct Answer :-
e all the same,
10) Fill in the blank with the correct option in the given sentence:

He was instrument-- in bringing the first ever indigenous ship to India.

1. --ed

2. --ally
3. --ation
4. --al

Correct Answer :-

o --al

11) Fill in the blank with the most appropriate preposition in the given sentence.
The mechanic is the car.

1. over



2. by
3. under

4. below

Correct Answer :-
o under

12) Choose the correct option to fill in the blank in the given sentence:

Mr. Khan gave us a --test before the final examination to check our learning skills.
1. post--

2. anti--

3. counter--

4. pre--

Correct Answer :-

13) Fill in the blank with the correct option in the given sentence:

Large factories ____ employ workers for night shifts.
1. routinely

2. routine

3. routiningly

4. rotation

Correct Answer :-

« routinely

14) Choose the appropriate tenses to fill in the blanks in the given sentence:

When the Queen she she wanted to rest.

1. is finished eating, declared

2. has finished eating, is declaring



3. has finished eaten, declared

4. had finished eating, declared

Correct Answer :-
» had finished eating, declared

15) Choose the right tag:

Yellow is your favourite colour, ?
1.isn'tit

2.is it

3. hasn't it

4. doesn't it

Correct Answer :-
e isn'tit

16) Choose the option that substitutes the given phrase appropriately.

A qualified accountant who inspects the accounting records
1. Auditor

2. Clerk

3. Statistician

4. Surveyor

Correct Answer :-
e Auditor

17) Change the given statement to indirect speech.
He said, "These are my pencils.”

1. He said that those are his pencils.

2. He said that these are his pencils.

3. He said that those were his pencils.

4. He said that these were his pencils.

Correct Answer :-



» He said that those were his pencils.

18) Which of the following options best combines the given two sentences?

You will get good marks. You work hard.
1. Working hard, you will get good marks.
2. You work hard, you get good marks.

3. You will get good marks working hard.

4. You will get good marks if you work hard.

Correct Answer :-
¢ You will get good marks if you work hard.
19) Choose the appropriate antonym for the highlighted word in the given sentence.

Our soldiers are known for their bravery.

1. Snobbism
2. Humility
3. Cowardice

4. Gallantry

Correct Answer :-
e Cowardice

20) Choose the appropriate prepositions for the given sentence:

I was depressed when my higher authorities turned my project scrutinizing it.
1. down, without

2. towards, by

3. into, before

4, around, after

Correct Answer :-

« down, without

21) Choose the appropriate conjunction for the given sentence:



Those rulers who believed they were invincible set out to conquer the world were clearly
power hungry.

1. and
2. as
3. but

4, because

Correct Answer :-

e and

22) Choose the appropriate option that rewrites the given sentence in its active voice.

Since childhood, he has been liked by everyone as he is very amiable.
1. Since childhood, everyone had liked him as he is very amiable.

2. Since childhood, everyone has been liked by him as he is very amiable.

3. Since childhood, everyone liked him as he is very amiable.

4. Since childhood, everyone has liked him as he is very amiable.

Correct Answer :-

¢ Since childhood, everyone has liked him as he is very amiable.

23) Choose the appropriate synonym for the highlighted word in the given sentence.

Art schools sponsor trips to interesting parts of the world.

1. Donate
2. Encourage
3. Support

4, Educate

Correct Answer :-

e Support

24) Choose appropriate articles for the given sentence:

My brother plans to live in hotel on outskirts of city.

1. The, a, the



2. The, a, no article required
3. No article required, the, a

4, a, the, the

Correct Answer :-

e 3, the, the

25) Choose the best option to complete the given sentence.

The two boys were fighting with __ when mother told ___ to behave
1. each other, them, themselves

2. me, you, myself

3. all, us, ourselves

4. us, them, himself

Correct Answer :-

« each other, them, themselves

26) Choose an appropriate modal for the given sentence:

Rajni need the money to pay the fees tomorrow.

1. should
2. will
3. can

4, could

Correct Answer :-

o will

27) Choose the most appropriate determiner in the given sentence.
There were chairs in the auditorium.

1. empty

2. colourful

3. wooden



4. seventy

Correct Answer :-
e seventy

28) Choose the option that best explains the highlighted expression:
I could finish the report by Tuesday at a push.

1. something is possible if nothing goes wrong

2. something is possible but only with some difficulty

3. something is possible if someone pushes

4. something is possible if someone offers help

Correct Answer :-
» something is possible but only with some difficulty

29) Choose the option that best explains the highlighted expression:
Parents who don't have control over their children have a lot to answer for.
1. are irresponsible

2. have a lot of answers

3. have to answer many questions

4. are responsible for a lot of bad things

Correct Answer :-
« are responsible for a lot of bad things

30) Choose the option that best transforms the sentence into its Indirect form:

The teacher said, “"The sun rises in the east.”

1. The teacher said the sun rose in the east.

2. The teacher said the sun will rise in the east.

3. The teacher said that the sun will rises in the east.

4. The teacher said that the sun rises in the east.

Correct Answer :-

e The teacher said that the sun rises in the east.



Topic:- Science (SCI)

1)

Find x, v and z representing the number of moles of the reactants and products in the skeletal

equation given below: /
S fgU A g A gHEERer A AfEERST 3R ScuEr & wHNOET T JEar @

gfafafce &= g . v 3R z 339+
Fe:O3 + xCO =2 yFe +zCOn

1.x=1, y=2 & z=1
2.x=3,y=2 & z=3
3.x=2,y=3,&z2=2
4.x=4,y=3 & z=4

Correct Answer :-

2) What happens when a sound wave is propagated through a medium? /

g @y o U wrens & g 81, O T g 32

1. The particles of the medium move perpendicular to the direction of propagation of the wave./
HIEH & HUI, T P YR B (=M1 dead VIR 81d 5 |

2. The particles of the medium remain in the state of rest./
HIEH & HUT fAYTHGRIT H X8 8 |

3. The particles of the medium make to and fro motion about their mean position./
HILH & HUT, I7h! H1ed R o Ty SeRIeR- Tl 81 &

4. The particles of the medium are also propagated. /

weH & S 4 gaRd g g

Correct Answer :-

» The particles of the medium make to and fro motion about their mean position./

HITH & BT, 37! A1 FRUFT & IHiT 3erIeR- nfa=ita gid g1

3) What are the common fishes selected for pond culture systems? /

drere dad= yonferal & e wafad @t 18 I aofial -t 82



1. Sharks and rays / ¥ & 3R
2. Sardines and mackerals / TqIfET 3R A
3. Mullets, bhetki and pearl spots/"ﬂﬁ?ﬂ, Teap! 3R U Wic

4. Catlas, rohu, mrigals, common carps and grass carps / dcdl, ﬁTg’, HITd, Y 1Y 3R I

EaL

Correct Answer :-

« Catlas, rohu, mrigals, common carps and grass carps / $cdl, ﬁTg’, Hildd, dTHIY ODIJ 3-?|T IR

4) The phenomenon responsible for the twinkling of star is: /

IR F fenfenrge & forw Swverd e &:

C
1. Dispersion and reflection / UHIR 3'?|T Urldd+
2. Reflection / TRTAdH

3. Atmospheric refraction / dlgl-iSQ'Inlq 3T

4. Dispersion / TR

Correct Answer :-

« Atmospheric refraction /aTﬂTi?;?ﬂ'q 3Ydd

5) Which one of the following diseases is almost eradicated from our country? /

fFrafafaa o @ fra Tl &1 guR 3 d a1 I R e man @2
1. Dengue / S1]

2. Malaria / AQifRal

3. Encephalitis / H&TSh QY

4. Poliomyelitis / Tiferdl

Correct Answer :-

. Poliomyeliﬁs/ﬁm

6) The hotness of an object can be measured by its ./

forelt avg @) THige # ST SR HTYT ST a1 8|
1. volume / 319d-d



2. Temperature / dIYHIT
3. Size / STDPR
4, Density / Ydcd

Correct Answer :-

o Temperature / dIUHIA

7) The frequency of oscillation of a pendulum is one hertz. What is the period of oscillation? /

U UgaH & S S AMGHRI Teh 5o 8 1 Gler 1 3rafy qar g?
1.0.5s

2.25

3.1s

4.0.1s

Correct Answer :-

8) A body of mass 10kg is moving along a horizontal plane with a uniform velocity 10m/s for 5
seconds. The acceleration produced in that body is: /

10 fHUT ST 31 Te e, 10 TexAFS F T 0 AT 5 AP F e ve Afes
Tdg & iR Tfaeha g1 39 e g1 Saunfed @R g:

1. 0.5 m/s?
2.2 m/s?
3.0m/s?
4. 50 m/s?

Correct Answer :-

9) Complete the statement with the correct option given below:

Matter is anything that .

i fow e fawel # 9 O faweu gie: Sy & gul #3:
e ag g




1. occupies space and has a definite mass. /
YT TR 8 3R a1 T ff3d geame gl g |
2. occupies space but has no definite mass. /

R ORAT € A+ SHDHT B 13 G T8l g g

3. exists as a solid with a definite mass. /

T FAfd SoTHM & 914 U 31 & U & Ai[G gl o |
4. has a definite mass and a definite shape. /

U YT goaHM Td T AT MR ST 8|

Correct Answer :-

« occupies space and has a definite mass. /

VYT ORdT 8 3R St tes Af¥d gooam giar 8|

10) Select the appropriate metal to be used to change the colour of an aqueous solution of
CuSOy from blue to colourless along with a red brown solid getting deposited. /

cuso, & T faera=, FoRTH aTe ¥ T & 319 o191 §3MT 3 39 g™ adT faaa+ &1 fia
M JEH 911 & e yget g1+ arell SUgeRT UTg BT T4 B |

1. Silver. / Alat
2. Gold. / I
3. Mercury. / URIT
4. Zinc. / SIXdl

Correct Answer :-

e Zinc. / SIXdTl

11) Sharp edged metal pin will go easily into the wooden board because: /

IS YR aret g @1 U St A ad St & dis § g9 S Fif:

1. As area of contact reduces force increases / TU% &F HH _Eﬁef I Td dedl %I

2. As area of contact reduces force decreases / W &%[ Yy B-)Iﬁ I ¥ HH Eﬁ?ﬂ %I

3. As the area of contact reduces the pressure reduces / % &9 HY g ¥ T HH gl 5

4. As the area of contact reduces the pressure increases /| ¥Ud &3 HH 8 I &9 ST 3

Correct Answer :-



 As the area of contact reduces the pressure increases / U &7 HH e I a1 JedIl gl

12) A screw gauge with zero correction gives the following reading when used to measure the
diameter of a wire. Pitch scale reading = 0 mm and head scale reading = 52 divisions. Given
that 1 mm on main scale corresponds to 100 divisions of the head scale. The diameter of wire
from the above data is: /

YA JUR & 1Y Th T TS TP dR & AT D ATYA & ¢ ST & a1 & uR
Fafefaa Sf$w ¢ar 81 e wrae {fE$w = o firndt sk 8 v Hf$w = 52 @1 e
w%%%a@mwm1ﬁ1ﬁ,%smwa? 100 TSl & FFY | SURIad GI-T A aR
DI 5

1. 0.0052 cm / 0.0052 &
2.0.052 cm / 0.052 &
3.0.26 cm/ 0.26 A

4.0.52 cm/ 0.52 98

Correct Answer :-

. 0.052 cm/0.052 Tt

13) A dull green colour coating formed when a copper vessel is exposed to moist air for long.
The green material is a mixture of: /

o9 U did BT UTH dd HHY deb 3(Ts; aTa1a3 01 § IgdT §, a1 39 UR TP 83 3 B uvd o
STl 81 98 871 uerd f=1 acal &1 uep firyur 8

1. Cu(OH), and CuO / Cu(OH), Td CuO

2. Cu(OH), and CuCO; / Cu(OH), Td CuCO;
3. Cu(OH), and Cu,0 / Cu(OH), Td Cu,0

4. CuO and CuCO3 / CuO Td CuCO,

Correct Answer :-

« Cu(OH), and CuCO; / Cu(OH), Td CuCO;

14) Choose the incorrect property about colloids. /

PIATSS b S UIeH &1 79— Be |

1. Colloidal particles do not settle down when left undisturbed i.e. colloidal sols are quite stable /

PIATSSH &b DUl dd db gl STHd 3, 91d b b I Uid Tal IS feur Srar g, ari
HIASSd faau- HTh! RR EA |




2. Colloidal particles are not visible to the naked eye. /

BIaTged HU Y 3G & faars el ad B

3. The size of colloidal particles lies in the range 10”7 =107 c¢m /

PIATSSH DHUN BT HR 1077 —107 . B HATH BId &

4. A colloidal solution is homogeneous in nature /

TP PHIARSd (A UPHid & Fold i grar g |

Correct Answer :-

« A colloidal solution is homogeneous in nature /

TS HIARSd [dad Udhid H Iolkig giar g |

15) Identify an isotope used as a tracer to detect the blood clot in human body /

Ha TR # T F YTb BT UGT T P 1T T SR &b FU § UY g1 910 U
JHRITS P Ugda= B |

1. Uranium — 235 /’CR-&ITII[ —235
2. Todine -131 / 3TATSIH — 131

3. Sodium — 24 / TSIH — 24

4. Cobalt — 60 / PISTT — 60

Correct Answer :-

« Sodium — 24 / AfeTq — 24

16) The product formed when iron reacts with steam is /
@ 3R o fHfhaT | T arer 3G 5:

1. FeO

2. FeH

3. Fe203

4, FE3O4

Correct Answer :-

J Fe304



The role of decomposers in the ecosystem is /
uifRufast a3 # srraes! &t YfIeT gidl 8
1. They do not act on organic compounds. / J FES DI IR HRf 81 HRd |

2. To convert inorganic materials into simple forms. / PTED TGl HI Iva =i # gfafeld
PR

3. To convert organic materials into inorganic forms. / FIee gardf &l 3prefe Tui o
gRafdd B

4. To convert inorganic materials into organic compounds. / JpTeE gardf B e qfe! o
gfafiad e

Correct Answer :-

+ To convert organic materials into inorganic forms. / BIEDH U P ABIED & §
gRafdd BT

18) The lightning arrester helps: /

afgac@rsefm) A 9 ¥ aag Har 3:

1. To store the electric charges at the time of lightning /
dfsd & 9T fagga Azl & Tugid H- H|

2. Dissipate the electric charges in to the atmosphere /
fagga 3=l & agHed ¥ Bigd 1

3. Avoid the production charges on the clouds /
qreal H AR & IAEA G T A |

4. To transfer the electric charges to the ground /

faqga M1axN & Y T RIHIIRT B |

Correct Answer :-
« To transfer the electric charges to the ground /
fagga Sma=l &1 YA T RFARd w1 H|

19) How much electrical energy in kilowatt hours is consumed in operating ten Swatt bulbs
for 10 hours per day in a month of 30 days? /

30 fa & Ter A A ufd iR 10 92 & 1 5 a1 & o9 aeal & wahT A fpaiare gl &
fra-it fagga ool 9t @ua gidt 82

1. 15 kWh



2. 150 kWh
3. 15000 kWh
4, 1500 kWh

Correct Answer :-

« 15kWh

20) Calculate the formula unit mass of MgS04.7H,0
[Atomic masses: Mg=24u,S=32u,0O=16u, H=1u]/
MgS0,.7H,0 & J §HTS STH B T BN
[URHATY QHIHTT: Mg=24u,S=32u,0=16u, H=1u]
1.286u

2.232u

3.246 u

4. 198 u

Correct Answer :-

e 246 u

21) A bullet just sticks on a fixed wooden board when it is fired from a gun. The Kinetic
energy of the bullet is mainly converted in to /

g I el gRt 9 R T Auifia aost & 1S wR Mt ga wrdt 81 Meft &1 nfow
Soll g1 ¥U A 39H yRkafedd gl ol 8:

1. Only Heat energy / Had ST SHoll
2. Kinetic energy for the wooden board /Gﬁ%@é%%q TTfasT Sl

3. Only Sound energy / Had @i SHoll

4. Sound and heat energy both / & 3R ST STt &t

Correct Answer :-

« Sound and heat energy both / ¥ 3R AT SHolf G

22) Ina sunny day, when the atmospheric temperature is 37°C, the temperature inside a car,
which is parked on an open ground is: /



TS YU ara 37 &, 99 argriseia araHH 37° AR Sia1 8, @) U R & 3ie o1
ATIHH, S go A | @el g, e ghm:

1. Greater than or equal to 37°C /37°C & ISR AT D
2. Equal t037°C / 37°C & SRT&R

3. Always greater than 379C /370C ¥ 31

4. Less than 370C / 370C @ &H

Correct Answer :-

« Always greater than 37°C / 37°C ¥ 3ffIH

23) In a filament bulb the electrical energy is converted into: /

s fhamie aod (dq 9e9) ® fagga ol &1 59w uRafda farar o 8:
1. Chemical energy / IS Sl

2. Only heat energy / HId ST Sl

3. Only light energy / Had UHTR SHoll
4. Light and heat energy both / USRI 3R ST Hoif Gl

Correct Answer :-

 Light and heat energy both / UPIR[ 3R ST FHal gt

24) What is the valency of Carbon in Methane? /
HA ¥ BT $1 HASTHar [t g2

1. Valency of C =2/ C &1 Hdlotehdl = 2

2. Valency of C = 1/ C B! gaIstahdl = |

3. Valency of C =4/ C B Ul = 4

4, ValencyofC=3/CaﬁwW=3

Correct Answer :-

. ValencyofC=4/Ca’ﬁH"q3IW=4

25) Which among the following is a mixed anhydride? /

fFrafafaa # 3w e fAfta Tiessss @2



1. C02
2. N»,Os5
3. SO,

4.NO,

Correct Answer :-

. NO,

26) Which of the following is not a control measure for the storage of grains? /
Frafafea & & = sFme Hsrur & forg fdzor U T8 82

1. Chemical method / A fafey

2. Fumigation / ﬂfﬁ

3. Plant products like mineral oils / JHS qd S UleU 3diq

4. Cultural method / W fafer

Correct Answer :-

« Cultural method / G ide fafey

27) Which of the following is a biotic component? /
frafafea & 9 o19-91 te 39w ges 32

1. Air/dlg
2. Water / oId]

3. Soil / lET
4. Living things / Sifdd a¥qu

Correct Answer :-

« Living things / Sfifad a¥qQ

28) Which of the following is a chemical effect of electric current: /
e o & 71 faggd vare &1 e yua §:

1. Producing a magnet using electric current /

faqgd UaTe 1 IUTIT b Teh Faich I -]



2. Producing heat in an electric kettle /
T SAlfagd bad! § ST Iad HIAT
3. Producing light using electric bulb /
faroTei! & Sesl T YA B UDBTR I BT
4. Production of Hy and Oy by passing current through water /

T T YRT TaTed B Hy 3R 0, BT IdTG HRAT

Correct Answer :-

» Production of Hy and O, by passing current through water /

U § URT YaIfed dRb Hy 3R 0, HT I HAT

29) Name the property of the components used for separating salt and camphor. /

TP 3R PR B! 3T B & T wahT frd 511 arel ges! & quiedt sarsa |
1. Using separating funnel / GYd®R] 1Y &l TN

2. Magnetic separation / G GBI

3. Sedimentation / 3ddTG

4. Sublimation /EW

Correct Answer :-

» Sublimation /Eﬁqﬁq

30) Discoveries, inventions, laws, theories are all related to the ./

e, fawpr, faw, Rigia It ¥ Iefa g
1. ease in daily living /W Sitad H ST
2. study of science / a3 &1 31ag

3. luxuries of life / Sifa & RSRERSIE]
4. satisfying human curiosity / AT IR &1 TS HRAT

Correct Answer :-

« study of science / A &1 3egg



Not only formative but also summative assessment can be conducted through: /

9 Had fAates, afcs T sread WY Ay & Arerw 3 danferd
far &I g dr 3:

1. Homework / W

2. Question and answer sessions / U4 3R IR TF
3. Projects / BIEeSEIE
4. Self-evaluation of teachers / TRI&fehT BT W-HIh

Correct Answer :-

« Projects / BIRISEIE

32) The drawback of Case Study method is that it does not lead to a: / &9-

wetfafsrguegfeas__ wam 8 et gl
1. Generalization / JTHTITHR]

2. Conclusion / fTehy

3. Categorization / G&HRUT

4. Assimilation / {THIATIDH U]

Correct Answer :-

+ Generalization / ITHRITGHRT

33) Which of the following is not a feature of Continuous and Comprehensive

Evaluation (CCE)? / Frafafad & 9 9 @ 9aa Td ATUSH 'F,_LFCI'IFI' (W'g)
o1 faxivar 181 82

1. It helps the teacher to learn about the existing concepts of students. / g EIEIED]

Hio[aT SRS & IR & S H 18 & Ggrial dxdl g

2. It involves more frequent tests and examinations. / $H4:I. IR qﬁ&‘l'UT 3R
Tlteme gfdferd gt g

3. It involves repeated assessment of the same parameter. / sﬂﬁ Uh ébf HlHqUsS &l

IR-IR 3ffpa- GiIfad giar g
4. It is a school-based evaluation. / g Uch ICEISEEIRCIEG) W %I

Correct Answer :-



. It involves more frequent tests and examinations. / ﬁ%lﬁl. IR 13Iﬂ<°;|'UT 3R
TRieme gfrferd gl 81

34) Which of the following is not a scientific question? / Fufafea A I S

TP AP Uy T8l 82

1. What is the density of water? / I &1 99 fdaHr %?
2. Why can we not see in the dark? / 8H 3N o | :Iéafa_’@ ghd %?
3. What is meant by a secular republic? / uﬁﬁ“@r&r TTOTa BT T 3 %?

4. Why is the colour of sky blue? / 3{TPTRT BT T =rar o %?

Correct Answer :-

+ What is meant by a secular republic? / ﬂﬁﬁ?ﬁ&‘f 0T T 1 3 %?

35) A formal event where multiple experts deliver their speeches is known

as ./ TP NUTIRSD YT oIgi P8 AU 34 HTuured e,
9§ ST STel 2

1. Laboratory / TARTITET
2. Symposium / g

3. Exposition / PR

4. Workshop / SR

Correct Answer :-

« Symposium / BSHE]]

36) What is the name of the satellite that was placed in the geostationary
orbit specifically for increasing television-based education in India? / 39 3UUg Pl ATH

w1 8, o YRa # Tefifas-snenfya fRien Y e & forw faxiy v & yRAfas e
o IGT TT YT?

1. ERS2
2. EDUSAT
3. TechEdSat

4. ATS-6



Correct Answer :-

- EDUSAT

37) What is meant by intervarietal hybridisation? /
Siarfafae Fepur o1 T 31 gaT 22
1. Crossing between different varieties of plants. /
T & fAfd UBR & o FahaT (Hi)
2. Crossing between different genera. /
T2l TroTTicr o ot Hepall (ShITRIT)
3. Crossing between genetically dissimilar plants. /
SR & & fors el 3 o Tepalr (@ IRI)
4. Crossing between two different species of the same genus. /

U 51 94U & o) FHF UoTifaal & i HopdT (hIi)

Correct Answer :-

« Crossing between different varieties of plants. /

el & s TR & g T (SHIRi)

38) Assessment standards are required to provide effective science education for all. To
assess teaching of science by science teachers in a classroom, which of the following

is NOT applicable?/ﬂma?mqmﬂaﬁﬁﬁm&ﬂmwa?mm
HTSH] BT STaTTHaT eIt 1 Ham § &y e gr1 g & Rreror &1
e H & forg, Frafefaa o @ #1991 suged =8l 82

1. Parents’ view of the teacher. /@T&W%W—m bl W'UTI

2. Performance report of the students in the subject. / fovg ® i ot uerA
Rac |

3. Students’ feedback on the teacher. /ﬁTWW@Fﬁ cARIGIERI

4. Other school’s opinion of the science teacher. / 3=y fazreral &t fagm Riege &
IR A M|

Correct Answer :-

« Other school’s opinion of the science teacher. / 3=y fa=reral &t fagm Riegs &
IR A M|



39) The factor that does not influence the formation of winds is: /

arg fmfor &) gutfad 9 #A aren aR$ A= 3:
1. Presence of mountain ranges / udd el D IufRfa

2. Presence of seas and oceans / Htl;?l' 3‘?|T Heldl? I‘{\I. A B'Cl'@lﬁf

3. Uneven heating of the atmosphere in different regions of the earth / q%a“r o faftr &=t |
dIdTdRUl b HHHIT dTy-

4. Rotation of the earth / q%aﬂ DI E{Uﬁ

Correct Answer :-

» Presence of seas and oceans / {-IJ;LQ\I. 3R TeMNFRI &t IufRfa

40) When a force of 1000N is applied on a particular surface the pressure acting on that
surface is found to be 10 Pa, then the area of the surface over which the force is applied

is /

w9 {5} faRiy W8 W 1000 <ge1 &1 g6 YN a1 8 df 39 Hedg W & 911 4419 10 Pa Ul
WTdT 8, O 99 SUANT Hag &1 &b fha-T &

1. 0.001 m?
2. 1000 m?
3.100 m?
4. 10 m?

Correct Answer :-

41) Four objects P, Q, R and S have the speeds 10m/s, 36km/h, 18km/h and 30m/s
respectively. Which of the two objects have the same speed? /

TR a¥ga3it P, Q, R Td S Ft 71fa svH=T: 10 Wi/, 36 fHit/ e, 18fFwi/wer 3k 30t/ B fp &t
gegai & fa IuE 22

1.RandS/Ran
2.PandR/PTIR
3.PandQ/PQa"Q
4.QandS/QUd S

Correct Answer :-



« PandQ/PUWAQ

42) How many times the bob of the oscillating pendulum crosses the mean position in 20
oscillations?/

S UgaH @1 919 fFa-t R 20 giamT § Are fRAfT & uR Fdt 82
1. 10
2. 20
3. 40

4. 60

Correct Answer :-

43) A ball is dropped from a height of 100m. Find the time taken by it to reach the
ground. (g = 10m/s2) /

TS g 100 1 &} Furs | FRTS w1l 81 Ae Y YA 9 ug=wA A fran Twa @i (g = 10m/s2)
. 255

5425

3.20s

4, 25s

Correct Answer :-

44) Amount of energy transferred from one trophic level to the next is /
TP NS R A ST NS Wk & RFaRd Soi St amr g 8|

1. 5%

2. 20%

3. 15%

4. 10%

Correct Answer :-

 10%



45) The acid present in Rancid butter /
fagpa vith woew # SufRya sra g 8

1. Butyric acid / Eﬁlﬁ% ST

2. Acetic acid / TRIfedh 3T

3. Lactic acid / QIfdcd 31T

4. Formic acid / TTH® 3

Correct Answer :-

« Butyric acid / W ST

46) In an electric motor, the energy transformation is from: /

7% g Mex §, Sl ufkad=T S g &:

1. Magnetic energy into electrical energy / t\j,dd;\lq 3ol &I iaqu ol |
2. Mechanical energy into electrical energy /WWWWW?E[
3. Electrical energy into magnetic energy / faggd Sull &1 da g SHoil d

4. Electrical energy into mechanical energy / [dgdd Sl &1 TifAd Sl &

Correct Answer :-

« Electrical energy into mechanical energy / faggd it &1 gifde® Sl |

47) CANCELLED

Thick layer of fat called blubber is found in: /

SAER TS 99T BI HId} Ud 379 IRl ATt 8:
1. Whale/%ﬂ
2. Polar bear/‘:’;],_qa'q'l-ﬂ?j\

3. Camel /WW

4. Shark / QI

Correct Answer :-

. Whale/%ﬂ

48) Which one of the features mentioned below about decomposers is not applicable to
decomposers? /



qYcH HUHTSID Hi gId 8 3R 9 il &l AT HRd 3 |

1. They transfer energy to the next trophic level in the food chain. /

d T 4T B ST Tl TR TR SHoll RIFARG $HRd & |
2. They are also called as saprophytes or reducers /

38 gaoidt a1 TYHRS Yl HaT i g

3. Decomposers are also scavengers and they clean the earth. /
3{Tgee uHTSIES Hi 8d § 3R d Gl & I HRd g

4. They help in recycling nutrients. /

d TN YT H Hag HRd ¢ |

Correct Answer :-

« They transfer energy to the next trophic level in the food chain. /

d G 4T H ST T Hdl TR R SHoll RIFIART $Rd |

49) Which of the following is not a child-centred classroom? / ﬁl"}lﬁ'@ﬁ T Q P-4t

IIA-P 5 BT T8I 872

1. Teachers promote collaboration in learning / TRT& 3{feRTH o g Bl deldl
adEl

2. The teacher is a facilitator instead of an instructor / QTW Udh E@TW CACSIE]
UHh IH-99F G|

3. The teacher decides content, instruction method and assessments / ﬁT&‘W Q:l'I'FI"Jﬁ,

e fafd iR sire o1 fAvfa HRaT B |

4. The students have a choice to pick assignments and decide assessment criteria /

JHE & U SRTHE T 3R Hedidhd AMES 09 HR &1 f[dhed g

Correct Answer :-

« The teacher decides content, instruction method and assessments / ﬁT&W 1v'l'l'lzl"Jﬁ,

A= fafd iR sipe &1 vl HRaT B |

50) Which of the following wastes is not bio degradable? /
e & @ si-u1 ke J9 fFw a1 I sawfia 8 82

1. Vegetable peel / il & fesdad
2. Milk sachets / G4 & e



3. Cow dung / T &1 &R

4. News paper / 3TddR

Correct Answer :-

« Milk sachets / g4 & Udbe

51) Which of the following learning approach is considered to be a derivative of the

Ausubelian approach? / m A ¥ i I gfgaﬁw, Gﬁ'\ﬂaﬁﬂ?
TS0 BT Sgad AT 1T 82

1. Experiential learning / SJHdTHD 3Ty

2. Collaborative learning approach / ead® T ef¥ehiur
3. Analogy strategy / HI€Y oI

4. Concept mapping / Ry A

Correct Answer :-

. Concept mapping / RIGI=d AR

52) Which of the following can help the students to learn science through kinesthetic

movements? / FafeIRad & @ @19 ol &1 nfawadd ferarsit & Arew A fagm= He=
A Heg P AhdI &2

1. Written test / ToTRad aiem
2. Debate / AG-1ddTg
3. Drama / dICch

4. Quiz / PENRE]

Correct Answer :-

« Drama /-Ich

53) If an object is kept in between the principal focus and the centre of curvature of a
concave mirror, then the nature of the image will be: /

gfe frdt avg &) &I Bied 3R 3raad Ul & apdl & dx W @7 STdT 8, o S #) upfa ghft:
1. Real, enlarged and inverted /W, WWQHBFCP[
2. virtual, diminished and erect / 3{THTEI, W&lﬁ@@f%ﬁ

3. Real, diminished and inverted / dl%diacb, {-igbi;ld Q_d Jeel




4. Real, diminished and erect/ dRdfde, Hepfod Td it

Correct Answer :-

 Real, enlarged and inverted /W, Gﬁ-ﬂ%@ Jec]

54) People of different age groups need different amount of sleep. Who among the
following needs more sleep? /

faftr smg ot & At sreT-3rer T aEn A i #t smazawdr gidl 31 Fufafaa A 3 faa g ot
T 3if¥e SRevd gl 32

1. Child / &<dl

2. Infant /&I’%I

3. Man /Y=Y
4. Woman /II'%(_“IT

Correct Answer :-

+ Infant /ﬁl’%

55) The force of 100N is acting normally on a surface of 2.5 m2. The pressure acting on
that surface is: /

2.5 m2 &1 T Jdg W JME-d: 100 N ST ¢ 9T SITdT ¢ | Jdg IR OV aral ¢a1d 2:
1. 400 N/m?
2.40 N/m?

3.4 N/m?
4. 250 N/m?

Correct Answer :-

56) A teacher is trying to nurture an aesthetic sense in his students, he should

encourage them to: /wﬁwmmﬁﬁaﬁa’mmﬁwaﬂﬁﬁ
DI B ¥ET 8, 34 3¢ WATed BT A b

1. Investigate ideas / EEREISIELE
2. Development of models of inquiry / STl & TfcHH (IIV'IST‘D &I [amRid HI |

3. Observe phenomenon keenly / YCHI G| S dl qad|



4. Frame questions / JUY AR B |

Correct Answer :-

« Observe phenomenon keenly / YcHl Dl S dl 9 ¢y

57) Which of the following would not promote active discussion? ARLIITCOR:]

| ©I |ithy 79t B gerar Ag1 gm?
1. Selecting topics from upcoming tests. / ST Ti&on & fawal &1 o ST

2. Summarizing ideas with the help of learners at the end of a discussion. / EEIED
3id H 1&gl 1 Ferdr ¥ foaRT &1 IRIRId S|

3. Acknowledging learners for responses. / gfdfehar & forg Rrefial &1 WeR
HRATI

4. Encouraging questions as well as responses to each other’s questions. / qardl &l

WATRd BT Td 1Y 1 Th-gaR & Uil &bl SA1d 1|

Correct Answer :-

« Selecting topics from upcoming tests. / SMTHT GRAefoT 1 fawal &1 99+ B

58) Which of the following statements is false with respect to scientific theories? /

AT Rigidl & day ¥ Fafafaa 4 9 9 T sy Taa 82

1. A theory must be tested with rigour. / Tch R—I&Id Dh[ cedl & g1y TRiefor fpar ST

Bl
2. Theories must follow observations. / @I@I(‘H &I t‘ravﬁ DT YTl bl ElT%UI

3. Theories may be expressed as an equation. / Rrgidl &1 TP JHIDHRUT & ¥ 0
o fordT off ThaT 6 |

4. Predictions of theories must be reproducible. / FIGT=l &1 HfoSTaTforaT 3/a=g
FU Y GG it dlig |

Correct Answer :-

. Theories must follow observations. / @l@lal Al ﬁf&‘l’Uﬁ CARING RG] HT%QI

59) A scientific theory cannot be expected to: / Th %mﬁw Rrgia I srdem =8t
DI ST Ahall b -




1. Predict all outcomes / G URUIHT &1 GaTHM T |
2. Resist falsification / ST DI h] foRIe B |

3. Receive questioning / gl Bl U PR |

4. Change with time / JHY & 1Y dad |

Correct Answer :-

. Predict all outcomes / g4 TRUTAT &1 UETT:PZI'I:T A |

60) Overuse of chemical fertilisers in agriculture makes the soli acidic and the land infertile.
What substance is generally added to the soil to neutralize this effect? /

P A IS IADI & Sifa YT A Tt sreftar gidt 8 aum Yy SguiTs; 81 9irelt 81
9 TUTT B 3R H & ¢ Jrr=ue: f5a ugrd &t firg § framan sirar 82

1. NaOH

2. Mg(OH),
3. Na2C03
4. CaO

Correct Answer :-

« CaO



